NAIR Assistant Signal N Telecom Engineer ASTE

Topic:- ASTE_PA_NAIRAUG4

1) Whatis the process of shaping of metal by squeezing them in between two
or more dies in order to obtain desired shape called?
TR ST T e ¥ Ry Sy ar 21 & iR =g % vy ST g arg A

[Question ID = 703][Question Description = Q01_ASTE_PA_NAIRAUG4]
- Forming / i

[Option ID = 2809]

2. Forging / FIfST

[Option ID = 2810]
3. Welding / 3+

[Option ID = 2811]

4. Grinding / ITEfET
[Option ID = 2812]

Correct Answer :-

* Forging / ®IEHT

[Option ID = 2810]

2) What is the periodicity of overhauling Double line Block instrument

T ATEA oAl SUHLI DI AFLglenT Hf aratamar (fig=iEn) faar 22

[Question ID = 704][Question Description = Q02_ASTE_PA_NAIRAUG4]
1. 10 years/ 10 39

[Option ID = 2813]

2. 25 years/ 25 995

[Option ID = 2814]
3. 7years/ 739

[Option ID = 2815]
4. 4 years/ 499

[Option ID = 2816]
Correct Answer :-

® Tyears/ 799

[Option ID = 2815]

Which one of the following corresponds to 1ISO 14001 standards?
ot & & %19 a7 arduasr 14001 €25 F A957 87

[Question ID = 705][Question Description = Q03_ASTE_PA_NAIRAUG4]
1. Environment Management System / T3 19T & & T

[Option ID = 2817] )
2. Energy Management System [ F=71 Ta g FOTAT

[Option ID = 2818]

3. Quality Management System / SToTa<IT Wag= ST
[Option ID = 2819]

4. Security Management System / T Wa&= FUTHAT



[Option ID = 2820]

Correct Answer :-

¢ Environment Management System / TaTa< T Fa &= TR

[Option ID = 2817]

4)  Tachometer is used to measure
TH T T =T "= % o T =TT |
[Question ID = 706][Question Description = Q04_ASTE_PA_NAIRAUG4]
1. Specific gravity of water / 5 %7 fafere Toe
[Option ID = 2821]
2. Wind velocity / 23T =T 37
[Option ID = 2822]

3. Distance between spokes of a wheel / 723 7 wiisa % 1= %t 541

[Option ID = 2823]

4. Speed of the moving wheel / S@ Ti2d i i
[Option ID = 2824]

Correct Answer :-

« Speed of the moving wheel / F@d 724 #if 77fd

[Option ID = 2824]

5) What is the essential mechanical property for a material to be successfully
rolled or forged
TR Tt 7 TFeargEF A AT RIS B F (1 AF9TF HhiAwa qrIal 74T 8

[Question ID = 707][Question Description = Q05_ASTE_PA_NAIRAUG4]
1. Brittleness / fa=ae

[Option ID = 2825]

2 Ductility / sFE=RET

[Option ID = 2826]

3. Elasticity / g@Tieeaal

[Option ID = 2827]

4. Malleability / Ferfafersr

[Option ID = 2828]
Correct Answer :-

o Malleability / #5faTeer

[Option ID = 2828]

What is the rated working veltage of 143 mm stroke Electric Point
Machine?
143 Tt w2 gorfees Tide 9siia #1 Lo2 o Fiees Faarge

[Question ID = 708][Question Description = Q06_ASTE_PA_NAIRAUG4]
1. 110 V DC/ 110 =7 ST

[Option ID = 2829]
2. 110 V AC/ 110 &7 Tt

[Option ID = 2830]
3. 24V DC /24 91T

[Option ID = 2831]



4 24V AC /24 FF wHt

[Option ID = 2832]
Correct Answer :-

* 110V DC/ 110 =1 ST

[Option ID = 2829]

7)  On sections, where Emergency Braking Distance (EBD) of more than 1.0 km is
to be catered for, a second Distant signal shall be provided.
I AFEET 97 Sgr 1.0 B & afgs fi g atE e (@G 1) s f

[Question ID = 709][Question Description = Q07_ASTE_PA_NAIRAUG4]
At not less than 2 kms in rear of First Stop signal/ ¥=# =7 fa7= %

Tz & 2 Bt & ax =gl

[Option ID = 2833] R
At not less than 1 kms in rear of First Stop signal / ¥a& =7 fivma %

ES R i B e B RS

[Option ID = 2834]
At not less than 2 kms in rear of Inner Distant / 297 E&z % RF7 # 2
feft, & o g T

[Option ID = 2835]
At not less than 1.5 kms in rear of First Stop signal / 797 &=17 B &
s g d 57 1.5 Bl S v =

[Option ID = 2836]

Correct Answer :-

At not less than 2 kms in rear of First Stop signal/ W= =17 fawe ¥
fra & 2 ol & v we =t

[Option ID = 2833]

8) Where shall a Routing Signal be placed:
=2 e Fal Tdr S
[Question ID = 710][Question Description = Q08_ASTE_PA_NAIRAUG4]
1. At not less than 180 m / 180 T ¥ =5 X &l
[Option ID = 2837]
In rear of the Points which it protects/ 37 4i%z F a7 # TS g 7787
FLAT &.

2.

[Option ID = 2838]
3. At not less than 120 m / 120 =T & ¥ 9% 721

[Option ID = 2839]
4. At not less than 320 m / 320 #1 & %7 9 7%l
[Option ID = 2840]
Correct Answer :-
In rear of the Points which it protects/ 37 9igz ¥ &% 7 St a5 A&7
FLAT .

[Option ID = 2838]

9) Calling-on signal shall be placed below a Stop Signal governing the approach of

a train OR below any other Stop Signal except the last Stop Signal.

[Question ID = 711][Question Description = Q09_ASTE_PA_NAIRAUG4]



1. With PCOM approval / ST=T&AMH ATAIET & 419

[Option ID = 2841] ]
2. With Approved special instructions/ FTHIT=T =97 29T F #14

[Option ID = 2842]

3. PCSTE approval / ieftuasig seia

[Option ID = 2843]
4. DRM approval/ STAEH STAIET

[Option ID = 2844]

Correct Answer :-

* With Approved special instructions/ st fasry [T ¥ ara

[Option ID = 2842]

10)  What is the Plan Head of Signalling (LC Gate interlocking) works
TETaeiT (st 2 S22l 13T) TN F1 9 o 547 &

[Question ID = 712][Question Description = Q10_ASTE_PA_NAIRAUG4]

1. PH-11/Frz=-11

[Option ID = 2845]
2. PH-28/ f17=-29

[Option ID = 2846]
3. PH-16/4109-16

[Option ID = 2847]
4. PH33/9w=33
[Option ID = 2848]

Correct Answer :-

¢ PH-29/47=-29

[Option ID = 2846]

11)  Separation of two different Electrical sections is achieved through:
T AT TR (HZTA AFA T THFLT (FU2e) o Hreas & wre {6y =1 2
[Question ID = 713][Question Description = Q11_ASTE_PA_NAIRAUG4]

1. AT/TET

[Option ID = 2849]

2. SSP/uauEHT

[Option ID = 2850]

3. IBS/#mEsTy

[Option ID = 2851] )
4. Neutral point/ =1z Tide

[Option ID = 2852]
Correct Answer :-
* Neutral point/ =Za Tige

[Option ID = 2852]

12) |n RE area, direct feeding of any signals from station / Goomty / LBs shall not be

rmore than:
A TRAT # w291 ) AT wed T & BT o femer o s fifEw e E
afd® Tof g

[Question ID = 714][Question Description = Q12_ASTE_PA_NAIRAUG4]
1. 90'm /80T



[Option ID = 2853]
2. 120 my 12047

[Option ID = 2854]
3. 180 m /180T

[Option ID = 2855]
4. 1000 m/ 10004t

[Option ID = 2856]

Correct Answer :- Deleted

13) RE mast shall be provided at minimum distance rear from any signals:
HTTE ATER T (b1 ST (e & =R a ShaeT 340 9% RaT war= fhar [

[Question ID = 715][Question Description = Q13_ASTE_PA_NAIRAUG4]
1. 10 m/ 1047

[Option ID = 2857]
2. 20m/ 204t

[Option ID = 2858]

3. 30 m /304t

[Option ID = 2859]
4. 45 m/ 45%7

[Option ID = 2860]
Correct Answer :-

* 30m/304T

[Option ID = 2859]

14)  |n RE area, Signals shall be protected with Mesh and connection to Earth is required if
the contact wire distance is:
reE uiar § et o 3 & dfin B s #i7 udf & wewe 7 e gnit

[Question ID = 716][Question Description = Q14_ASTE_PA_NAIRAUG4]
1. Bm/ 541

[Option ID = 2861]
2. 10m/ 104t

[Option ID = 2862]
3. 2m /2t

[Option ID = 2863]
4. 20m/ 20T

[Option ID = 2864]

Correct Answer :-

e 2m /2T

[Option ID = 2863]

15) Calling ‘'ON' signal can be placed below a Stop signal except:

HITeT ‘A e % 560 e % AT w219 ®EAe & A1 21 97 950l ©

[Question ID = 717][Question Description = Q15_ASTE_PA_NAIRAUG4]
1. First Stop Signal / AT w217 fawwer
[Option ID = 2865]

2. Repeater signal / Fedfrez &=t fmmer

[Option ID = 2866]
3. Last Stop Signal / #fow =17 &=



[Option ID = 2867]

4. Starter Signal/ 92T fE=
[Option ID = 2868]

Correct Answer :-

* Last Stop Signal / =t w17 EwmT

[Option ID = 2867]

16) In Standard-1ll, MACLS territory a station with more than three diversions from main line
on
each side shall be provided with:
ATT-l|, THEHTCATT & | WoA % 9% AT @1ed F o1 3 AT9F SrEa= ara w90

[Question ID = 718][Question Description = Q16_ASTE_PA_NAIRAUG4]
1. Junction Type Route indicator / 57T 212 ¥= if2Het

[Option ID = 2869]
2. Stencil Type Rote indicators /E2E@ zga sz 3fEHet

[Option ID = 2870]
3. Multi Lamp Route indicator / Fe21 @10 == 2is et

[Option ID = 2871]
Multi lamp cum Junction type Route indicator/ ®#2T &7 %3 st 2127 €2

EIEE 228
[Option ID = 2872]

Correct Answer :-

Multi lamp cum Junction type Route indicator/ ##2T &7 %3 st 2127 €2
ElEE T2

[Option ID = 2872]

17)  What is the Mandatory Block overap distance (in meters) for Auto signals:
T e & forg A= sai® drazey 240 (He 7) #=r &

[Question ID = 719][Question Description = Q17_ASTE_PA_NAIRAUG4]
- 180 meters / 180 HieT

[Option ID = 2873]
2. 120meters/ 120 12T

[Option ID = 2874]
3. 400 meters/ 400 HeT

[Option ID = 2875]
4. 1000 meters/ 1000 HieY

[Option ID = 2876]

Correct Answer :-

e 120meters/ 120 HIET

[Option ID = 2874]

18) In IBS, the LSS signal is controlled by

i ¥

ArédToe § wavaud A o1 e g Mae BT smar g

[Question ID = 720][Question Description = Q18_ASTE_PA_NAIRAUG4]

1. Block Instrument of rear station / FaT &9 =1 =A% -éf%ﬁé,

[Option ID = 2877]



2. |B signal / SET T

[Option ID = 2878]
3. Axle counter of rear section / RI< TFT T THTH FT32L

[Option ID = 2879]
4. Block instrument of advance station / TEaTE €291 77 sa11F 26

[Option ID = 2880]

Correct Answer :-
e Axle counter of rear section / T¥=< TF9T T UFIH FTI=2

[Option ID = 2879]

19) Kavach is a ATP system for protection of train against the following

except for
FAT UF I FOTAT & ST 5 B (Asrertere 3 & famy e gear wae st
z

[Question ID = 721][Question Description = Q19_ASTE_PA_NAIRAUG4]
1. Collisions / Z&%

[Option ID = 2881]

2. SPAD/uadiust

[Option ID = 2882]

3. Excessive speed / A&l
[Option ID = 2883]

4. Broken Rail / &1 &
[Option ID = 2884]

Correct Answer :-

* Broken Rail / #1%d &

[Option ID = 2884]

20) What is the Maximum speed permitted in STD |ll station section as per SEM :
UHZUH % AGATE £33 9 (|1l) T2or ot # ATSFaH SqHT T 747 27

[Question ID = 722][Quesi;ion Description = Q20_ASTE_PA_NAIRAUG4]
1. 50 Kmph / 50 faeft wfe 5=t

[Option ID = 2885]

2. 110 Kmph /110 frefi sfer szt

[Option ID = 2886]
3. 140Kmph /140 5T wia =21

[Option ID = 2887]

4. 160 Kmph/ 160 feefT sfa=izr & atfas
[Option ID = 2888]

Correct Answer :-

¢ 140Kmph /140 5t wie 521

[Option ID = 2887]

21) Al Starter signals shall be provided at minimum distance from controlling track
circuits Block/Glued joints is:
FHT B2 (AT 1 HE I & A a1 / 7o2 =a782 8§ =gan el gii 92
HET AT ST

[Question ID = 723][Question Description = Q21_ASTE_PA_NAIRAUG4]

1. 1 raillength /7 Ye s aTE




[Option ID = 2889]
2. 685m /65T

[Option ID = 2890]

3. Srail length / 5 To siaT2

[Option ID = 2891]
4..05m/ 0547

[Option ID = 2892]
Correct Answer :-

o 05m/05HT

[Option ID = 2892]

22) One of the following Block Instrument is not suitable in RE Territory.
frsforfaa # & v s ST ks a9 § 399 TR 5.

[Question ID = 724][Question Description = Q22_ASTE_PA_NAIRAUG4]

1. TLB/ EraereT

[Option ID = 2893]
2. FM Diado/ THUH =T4TE

[Option ID = 2894]
3. $SBPAC(D) / THTa= T (=)

[Option ID = 2895]
4. SGE Lock and block/ Tasfig @iF =f7 =1

[Option ID = 2896]

Correct Answer :-

o TLB/Ergerdt

[Option ID = 2893]

23 TWS and High thrust point machine is mandatory where section speed is
fFerT wfte fraaT & 9 Seseud #i e gee utiz wefiw afard 2

[Question ID = 725][Question Description = Q23_ASTE_PA_NAIRAUG4]
1. 50 Kmph / 50 T W =21

[Option ID = 2897]
2. 100 kmph / 100 &7 wfd =ar

[Option ID = 2898]
3. 110 kmph / 110 3T st =er

[Option ID = 2899]
4. 160 Kmph/ 160 ferefr ofer ==r
[Option ID = 2900]

Correct Answer :-

o 160 Kmph/ 160 frefT ofer ==r

[Option ID = 2900]

24) CRS sanction is not required for which signalling work:

T femmafeir = & Torg wameg i Sisi aEsas =g
[Question ID = 726][Question Description = Q24_ASTE_PA_NAIRAUG4]
1. Addition loop line /ai=eT a7 wTa

[Option ID = 2901]
2. New station Temporary /T3 EL5T ZFI T4
[Option ID = 2902]



3. RE alone commissioning /& 3T<s ## (a1 T

[Option ID = 2903]
4. Auto signalling /=21 RRFTT

[Option ID = 2904]

Correct Answer :- Deleted

25) |n RE area, for a normal way side station the required battery capacity for IPS;

A AT & UF AT H1ES o ASHIH ¥ [org Araeqd = @HaAr e
&

[Question ID = 727][Question Description = Q25_ASTE_PA_NAIRAUG4]

1. BOAH / 80wT=

[Option ID = 2905]
2. 120AH / 120 vo=

[Option ID = 2906]
3. 200AH |/ 200 wuw

[Option ID = 2907]
4. 300AH / 300 wo=
[Option ID = 2908]

Correct Answer :-

¢ 200AH [ 20099

[Option ID = 2907]

26) A station in rear of IBS, Last stop signal can be cleared only when:

11T L B D B s o e A B o e 2 o B e B e e e e o R e T
EEE

[Question ID = 728][Question Description = Q26_ASTE_PA_NAIRAUG4]
1. |B section shall be clear /A& FFeT (F59E 2T AT

[Option ID = 2909]
IB section with 400M overlap ahead of IB Signal/ ATEa T f&7er % ART 400
T2t AT o AT ATEAT AFGTT

[Option ID = 2910]

3. Line clear obtained (TGT)/ @12 fFoaz fitede (ET=(121)

[Option ID = 2911]
4. Communication through |B Phone /2ITE8 1 1A % HT=aH S5 45917
[Option ID = 2912]

Correct Answer :-

, |B section with 400M overlap ahead of IB Signal/ ATEA T ToTer = ARr 400
et ArETaT o AT Aed T JAFeT

[Option ID = 2910]

27)  Any new station infringement to schedule of dimension requires the sanction of ;

Tt T A #2917 FT STEHAT F SSLA BT e dA(FARS ) FA T B T 5

forg Tt &=t 67 snasasar gl &
[Question ID = 729][Question Description = Q27_ASTE_PA_NAIRAUG4]
1. DRM /Zr=mees
[Option ID = 2913]
2. PCOM [HTTETH

[Option ID = 2914]

3. CRS / Hizmius



[Option ID = 2915]

4. PCSTE/ fiefiumds
[Option ID = 2916]

Correct Answer :-
* CRS /HE=mua

[Option ID = 2915]

28) Any new works, installation of signals on Right Hand Side(RHS) of the track shall
require the sanction of :
fareft oft 7o v, smeu=E 9% B £ g (Geetae) ¥ e Eedr
=i A AFIFAHAT BN

[Question ID = 730][Question Description = Q28_ASTE_PA_NAIRAUG4]
1. GM /st

[Option ID = 2917]

2. PCOM/ Fefiaas

[Option ID = 2918]

3. CRS/di=mmuy

[Option ID = 2919]

4. PCSTE/ fiHimwadig

[Option ID = 2920]

Correct Answer :-

* PCOM/ Hiiaras

[Option ID = 2918]

29) Under which Ministry Commission of Railway Safety (CRS)functions:
ors gIEAT AT (HEreE) e wErerd  aeiT we e &

[Question ID = 731][Question Description = Q29_ASTE_PA_NAIRAUG4]
1. Ministry of Railways / 37 g7

[Option ID = 2921]
2. . Home ministry/ &g FA7cia
[Option ID = 2922]
3. Ministry of Civil aviation/ 7797 % 3577 HAT77
[Option ID = 2923]
,. The Ministry of Road Transport and Highways/ TZF I AT T
HATAT
[Option ID = 2924]
Correct Answer :-
* Ministry of Civil aviation/ 77777 Fg 37 #9777

[Option ID = 2923]

30) PCSTE sanction is not require for :
fieftuadiz wwh s e smavgsar 781 &

[Question ID = 732][Question Description = Q30_ASTE_PA_NAIRAUG4]
Replacement of Block Instruments / ST9 I95I0T T Y=

" (i)

[Option ID = 2925]
Mechanical Sliding Boom locking to the existing Interlocked LC

' gates/ HisET et wE S T AR R s

[Option ID = 2926]



o~

3. Closer of LC Gates / UA#T TiZ# HiT 191X

[Option ID = 2927]

. Interlocking of midsection LC Gates/ fizarFsrm uaely i2a 7
P
[Option ID = 2928]

Correct Answer :-

* Closer of LC Gates / UH#HT 1128 H T 91X

[Option ID = 2927]

31)  For running trains up to 140Kmph, the minimum Standard of Interlocking as per
IRSEM to be provided for a station is:

140 Tt aff 52 7 o i & o9 5o & e et 2o 3 o s aroas g
& ATATE ZETANHT FT AATH AFF  F4T 247 AT(20?

[Question ID = 733][Question Description = Q31_ASTE_PA_NAIRAUG4]
1. Standard | / &=

[Option ID = 2929]
2. Standard Il / 2551

[Option ID = 2930]
3. Standard lll /=E==111

[Option ID = 2931]
4 Standard IV / #2551V
[Option ID = 2932]

Correct Answer :-

o Standard lll /#===11I

[Option ID = 2931]

32) Minimum visibility distance of Loop line starter signal in meters as per SEM shall be :
THEUH % ATHTL AT M1e7 €t (et i geaa(faisriatedt) #7 =mam g0
et 2

[Question ID = 734][Question Description = Q32_ASTE_PA_NAIRAUG4]
1. 400m/ 400+

[Option ID = 2933]
2. 300m/ 300+T

[Option ID = 2934]
3. 200m/ 2004

[Option ID = 2935]
4. 600m/ 600

[Option ID = 2936]

Correct Answer :-
¢ 200m/ 200+
[Option ID = 2935]

33) Goods waming board as per SEM is not required in the following territory:
THLUH F AU TEH a7 ars Hufetad Gy a3 ¥ ames 95 e

[Question ID = 735][Question Description = Q33_ASTE_PA_NAIRAUG4]
1. Single line territory/ T wimaT &=

[Option ID = 2937]
2. Double line territory / & @ TgT &

[Option ID = 2938]



3. Double Distance territary / 5o R &=
[Option ID = 2939]

4. Non-RE territory/ 3712 &=
[Option ID = 2940]

Correct Answer :-

* Double Distance territory / ga« e &=

[Option ID = 2939]

34) Advantage of Automatic Block Signalling is

o
|A

AT TH & serie (AT (o T T 547 &

[Question ID = 736][Question Description = Q34_ASTE_PA_NAIRAUG4]
1. Less installation cost / 5 HEATIA (L o917) AT

[Option ID = 2941]
2. Increase the section capacity / ST dHaT # 915

[Option ID = 2942]

3. None of the option given is correct/ T e fEsedt & & %1 o 7T 72 2

[Option ID = 2943]
4. Moving Block / 4@ &%

[Option ID = 2944]

Correct Answer :-

¢ Increase the section capacity / =T gHaT § Iz

[Option ID = 2942]

Purpose of GPS in Kavach system is
Fa= TOTAT § Sifium s Igsm F T |

[Question ID = 737][Question Description = Q35_ASTE_PA_NAIRAUG4]

Time synchronization of all modules / H3iT #TSL F1 2137 A&HAT2H9H

[Option ID = 2945]
2. To transmit SOS / TEATTH ZiATH FLAT

[Option ID = 2946]
3. To transmit Movement authority / Ha#Hz 912l A FEAT

[Option ID = 2947]
4. Position of the vehicle / F1g =1 fafa

[Option ID = 2948]

Correct Answer :-

Time synchronization of all modules / #siT Ai=Iw %7 2127 H@A18994

[Option ID = 2945]

36) The push buttons involved during axle counter failure resetting in IBS are

ALATTH H THHA FTI2L KoL LTS & a0 eTiHe 197 Fe +497 &

[Question ID = 738][Question Description = Q36_ASTE_PA_NAIRAUG4]
1. PB1, PB2 & PB3 /fid1, 2 =iz fi=fi3

[Option ID = 2949]

2. PB1 & PB2/ dT1 sz 91612

[Option ID = 2950]

3. PB2 & PB3 /72 &fiw 11413

[Option ID = 2951]




4. PB1 & PB3 /911 diz di13

[Option ID = 2952]

Correct Answer :-

* PB2 & PB3/ fidi2 & fi=13

[Option ID = 2951]

37)  Station Kavach communicates with NMS through the following interface
29T FAS (AHATAT (57 G220 & ATEGH § UAUHTH % 979 FEgf-she F2071 &

[Question ID = 739][Question Description = Q37_ASTE_PA_NAIRAUG4]
1. E1/%1
[Option ID = 2953]

2. GPRS /sfidi=mens

[Option ID = 2954]

3. Serial / Hifae
[Option ID = 2955]

4. Radio /=4
[Option ID = 2956]

Correct Answer :-

* E1/31

[Option ID = 2953]

In IBS, the IB Telephone is connected to

ATEH TR F AT Sot (I (herdl =7 &
[Question ID = 740][Question Description = Q38_ASTE_PA_NAIRAUG4]

- Advance station / UEETEEEST

[Option ID = 2957]
2. Both stations / SF e

[Option ID = 2958]
3. Rear station / Fgw=s=

[Option ID = 2959]
4. |BHut/= é;iilg:,
[Option ID = 2960]

Correct Answer :-

o Rear station | FFgTessr

[Option ID = 2959]

39
) What is the classification of IB Signal?

£ P ) e 1 e B T e 2
[Question ID = 741][Question Description = Q39_ASTE_PA_NAIRAUG4]
I Class A /aemET

[Option ID = 2961]
2. Class B / #=&T

[Option ID = 2962]
3. ClassC [ F=rerdr

[Option ID = 2963]



4. ClassD/ Fa =T
[Option ID = 2964]

Correct Answer :-
* ClassC [ F=mr =1

[Option ID = 2963]

40) What is the minimum visibility of Distant signal as per SEM
THEUH % AGETE 50689 T80T 911 09 9qai([a st eel) Fare?

[Question ID = 742][Question Description = Q40_ASTE_PA_NAIRAUG4]
1. 200 m /2007

[Option ID = 2965]
2. 300 m /3007

[Option ID = 2966]
3. 400 m/400 =T

[Option ID = 2967]
4. 600 m /600 HT
[Option ID = 2968]

Correct Answer :-

* 400 m/ 400 #i

[Option ID = 2967]

Which is not an advantage of CTC
TR TR AT AR A g

[Question ID = 743][Question Description = Q41_ASTE_PA_NAIRAUG4]
1. Better Line Capacity / Sga< wiTg+ &HaT
[Option ID = 2969]
2. Time Table Management / &&% T<oft waa
[Option ID = 2970]
3 Flexibility / wFafafed
[Option ID = 2971]
4. Automatic Route Setting / T9=Tfer &2 Af&T

[Option ID = 2972]
Correct Answer :-
°®  Flexibility / wifFataft

[Option ID = 2971]

In Kavach system, at what distance LC Gate Tag on Main Line is placed
before approach of the LC Gate.
FAT FOTAT H AT 2 6 99 T F Ggol 0 A2 9% GAHT 72 247 Fhad | 341 9%
AT STAT 2 ? '

[Question ID = 744][Question Description = Q42_ASTE_PA_NAIRAUG4]
1. 1000 m/ 1000 ===

[Option ID = 2973]
2. 600 m /600 =T

[Option ID = 2974]
3. 400 m/400+i=T



[Option ID = 2975]
4. 200 m/200%Tz%
[Option ID = 2976]
Correct Answer :-

e 600 m /600 Hizx

[Option ID = 2974]

43) Which layer of the OS| model is responsible foer the encryption and Decryption
of user data?
e 22

[Question ID = 745][Question Description = Q43_ASTE_PA_NAIRAUG4]

1. Application / TCeheET

[Option ID = 2977]
2. Presentation / SsigerT

[Option ID = 2978]
3. Network / 7za®

[Option ID = 2979]
4. Data link / 227 &%
[Option ID = 2980]
Correct Answer :-

e Presentation / ¥S{2or

[Option ID = 2978]

44)  Which network devices operate primarily on the network layer of the

03] model?

A H oAt BaTed qeg €9 ATCHATE Hiew K ded® TiT I HH T 67
[Question ID = 746][Question Description = Q44_ASTE_PA_NAIRAUG4]
1. Routers / Ti3eT

[Option ID = 2981]
2. Switches / fea=

[Option ID = 2982]

3. Repeaters / fofizst
[Option ID = 2983]

4 Hubs / Zs80
[Option ID = 2984]

Correct Answer :-
* Routers /Ti3cT

[Option ID = 2981]

45) When using TCP/IP, the following splits an IP address into a network

address and a node address:

usg # s war

[Question ID = 747][Question Description = Q45_ASTE_PA_NAIRAUG4]

1. Subnet address / Hgac U3H

[Option ID = 2985]
2. Subnet mask / Ta-z AFF

[Option ID = 2986]



3. Default gateway / fBiee =29

[Option ID = 2987]
4. Port number / 912 Fa%

[Option ID = 2988]
Correct Answer :-

* Subnet mask / TaqE AR

[Option ID = 2986]

46) Port numbers are the addressing used to identity

918 €A1 9g USH g [E®T a9 306 Tg=d & (g 47 F0aT &

[Question ID = 748][Question Description = Q46_ASTE_PA_NAIRAUG4]
1. Individual nodes/ EEfasaste A5

[Option ID = 2989]
2. Separate networks/ S TEaH

[Option ID = 2990]
3. Cisco routers/ &=t 732=

[Option ID = 2991]

4. Specific TCP/IP applications / Tafarg Zrfidi/amidt wiasrsm
[Option ID = 2992]

Correct Answer :-

* Specific TCP/IP applications / Tofsre rfrdfyaredr uitass—

[Option ID = 2992]

47) Switches have how many MAC addresses?

eq= ¥ o woreet wga g 17
[Question ID = 749][Question Description = Q47_ASTE_PA_NAIRAUG4]
" One/T=

[Option ID = 2993]

, None, only End stations have MAC Addresses/®TE A5, Fad TSS9l | &l

[Option ID = 2994]
3. As many as you want to define / TS ST THsTHT F507 JTad &

[Option ID = 2995]

4. One for each port / 974 912 % oI TF
[Option ID = 2996]

Correct Answer :-

* One for each port / 9% i ¥ fe u=

[Option ID = 2996]

48) LTE standards is developed by?

TFETS AT (e GraT AHiea a1 TEr 87
[Question ID = 750][Question Description = Q48_ASTE_PA_NAIRAUG4]
1. |EEE/#wdis

[Option ID = 2997]

2. ANSI/ wuAuH=E

[Option ID = 2998]

3. TRAIl/ Erzmaaams

[Option ID = 2999]



4. 3GPP/ 3T
[Option ID = 3000]

Correct Answer :-

* 3GPP/ 3ot

[Option ID = 3000]

49) Which of the following transmissions represents one-to-many valid

Ethernet transmissions?

Fraferfe ¥ & #i & gifmam v da dawe s w1 gRfife s g 2
[Question ID = 751][Question Description = Q49_ASTE_PA_NAIRAUG4]
1. Simulcast /| GEHTFRE

[Option ID = 3001]

2. Simplex / H=iT=
[Option ID = 3002]

3 Unicast / giH%1e=

[Option ID = 3003]
4. Broadcast/ #isTe

[Option ID = 3004]
Correct Answer :-

¢ Broadcast/#@lzare

[Option ID = 3004]

30) What is the size of a MAC address?

THTHT TgE HT AL AT & ?
[Question ID = 752][Question Description = Q50_ASTE_PA_NAIRAUG4]
1. Six Bytes/ ©g 9i5cd

[Option ID = 3005]
2. Eight Bytes/ 513 d122d

[Option ID = 3006]
3. 16 Bytes/16 aTZ2H

[Option ID = 3007]
4. 32 Bytes/32 @138

[Option ID = 3008]
Correct Answer :-
¢ Six Bytes/ Bg 3¢

[Option ID = 3005]

51) What is the first bridge elected in the Spanning Tree process?
ST & s & AT T vger A A AT 22

[Question ID = 753][Question Description = Q51_ASTE_PA_NAIRAUG4]

1. Designated bridge/ f2ffiasics fasar

[Option ID = 3009]

2. . Bridge elect/ fizs goi7e

[Option ID = 3010] )
3. Root bridge/ == ==

[Option ID = 3011]

4. Segment bridge/ #7He e

[Option ID = 3012]



Correct Answer :-

* Root bridge/ #= fa==

[Option ID = 3011]

52) The collision domain is bound by which type of device(s)?
AT STHA (60 AFTC 5 SIHLT (371) F F847T a1 22

[Question ID = 754][Question Description = Q52_ASTE_PA_NAIRAUG4]
1. Hubs / gs8

[Option ID = 3013:_]
2. Switches / 5=

[Option ID = 3014]
3. Nodes /7=

[Option ID = 3015]
4. Repeaters / fidi=d

[Option ID = 3016]

Correct Answer :-

* Switches / T3

[Option ID = 3014]

>3) The broadcast domain is bound by which type of device(s)?
sitewTeE ST T T & Fame & et ST 27

[Question ID = 755][Question Description = Q53_ASTE_PA_NAIRAUG4]

1. Bridge/ ¥=at

[Option ID = 3017_]

2. Switches/ &=
[Option ID = 3018]

3. Routers/ Traed
[Option ID = 3019]

4. Repeaters/ fidi=d
[Option ID = 3020]

Correct Answer :-

* Routers/ Tr3ad

[Option ID = 3019]

54) VLANSs operate in which layer of the OS| model?
frumuua ArgFars wize 67 G a9 ¥ 519 #2922

[Question ID = 756][Question Description = Q54_ASTE_PA_NAIRAUG4]
Layer one/ ®¥I{ Uk
[Option ID = 3021]

2. Layer two/ ST &l

[Option ID = 3022]
3. Layer three/ @9< die

[Option ID = 3023]
4. Layer four/ #97 =TT

[Option ID = 3024]

Correct Answer :-

* Layer two/ ®aZ a0

[Option ID = 3022]



55) VTP stands for what technology?

T =7 e e AR A E 7
[Question ID = 757][Question Description = Q55_ASTE_PA_NAIRAUG4]
1. VLAN Tunneling Protocol / druerugsT gafeiar dicislier

[Option ID = 3025]
2. Virtual Trunking Protocol/ = 3# Z15T FTErH1=

[Option ID = 3026] ) )
3. VLAN Trunking Protocol/ frumuey 27 TEisi=

[Option ID = 3027]
4 Virtual Tunneling Protocol/ 95 el STersier

[Option ID = 3028]

Correct Answer :-

L g

* VLAN Trunking Protocol/ Fiu@uu 25T FEil=

[Option ID = 3027]

56) What is the line rate for STM4
uHdTeH4 % Ty wireT & 74T 27
[Question ID = 758][Question Description = Q56_ASTE_PA_NAIRAUG4]
. B Mbps/8 THETIITR
[Option ID = 3029]

2. 155.520 Mbps/155.520 wHATIwH

[Option ID = 3030]
3. §22.08 Mbps/622.08 waddius

[Option ID = 3031]

4. 2488.32 Mbps/2488.32 uxdidiuyg
[Option ID = 3032]

Correct Answer :-

* 622.08 Mbps/622.08 uHHTIIUH

[Option ID = 3031]

7) " \Which lower rate PDH signal is not supported in SDH multiplexing

THSTT Hoal 3 § S 97 (A9 5% 42 (07 oo aqi8q 7ai &
[Question ID = 759][Question Description = Q57_ASTE_PA_NAIRAUG4]
1. E1/ %1

[Option ID = 3033]

[Option ID = 3034]
3. E3/¥3

[Option ID = 3035]
4 E4/ %4

[Option ID = 3036]
Correct Answer :-
* E2/%2

[Option ID = 3034]

58) Durihg the TCP three-way handshake, what is the process that happens on
the third step?
Srefiefy offt Sudn S ST ey S g T AT S 2 2

[Question ID = 760][Question Description = Q58_ASTE_PA_NAIRAUG4]



' An ACK is sent. /o wEis 3=T 31T &

[Option ID = 3037]
2. An ACK with data is sent. / 2T @fgd T T =7 7497 2.

[Option ID = 3038] .
3. ASYN is sent./ U® AT FT 74T £.

[Option ID = 3039]

4. No acknowledgment is sent at this step./Z5 T3 T% Hilg, ITE0T Aal A1 AT,
[Option ID = 3040]

Correct Answer :-

° An ACK is sent. /udh TEh Sia 10T &

[Option ID = 3037]

59) VHF communication frequency band is

ATUHCE AT il 9% 2
[Question ID = 761][Question Description = Q59_ASTE_PA_NAIRAUG4]
1. 30-300KHz/ 30-300KTH# gz

[Option ID = 3041]
2. 3-30MHz/ 3-307Tgest
[Option ID = 3042]

3. 30-300MHz/ 30-300%gest

[Option ID = 3043]
4. 300-3000MHz/ 30-30007 gzt
[Option ID = 3044]

Correct Answer :-

* 30-300MHz/ 30-300%gest

[Option ID = 3043]

60) Type of Jointing kit for Quad cable to be used as per latest RDSO

specification

FHATATH A= (CHEAT [AI=97 % ATATE FTS HAA $ [0 {587 TR HT A1Z17 (e

[Question ID = 762][Question Description = Q60_ASTE_PA_NAIRAUG4]

" T8F1/ Fromus
[Option ID = 3045]

2. TSF2/ frugusz
[Option ID = 3046]

3. RTSF/ w@rZZuaus
[Option ID = 3047]

4. TSF4/ fruauwa
[Option ID = 3048]

Correct Answer :-
* RTSF/@7Zeaus

[Option ID = 3047]
61) Spectrum allocated to IR for LTE is
TAZ(E ® (10 ATEHATT HI a1 TIF2H 2
[Question ID = 763][Question Description = Q61_ASTE_PA_NAIRAUG4]
1. 1.4 MHz paired in 700MHz band/ 1.4 &=t %1 700 F9Tg2s a2 & ST 747




[Option ID = 3049]
2. 5 MHz paired in 700MHz band/ 5 #7Tgzst %7 700 #9Tg2st 45 # STIeT W4T

[Option ID = 3050]
3. 10 MHz paired in 700MHz band/ 10 HTgzs %1 700 #9Tges a5 § S1eT 14T

[Option ID = 3051] _
4. 20 MHz paired in 700MHz band/ 20 #3rgzst % 700 #TTggsl 95 # Si12T 54T

[Option ID = 3052]

Correct Answer :-

* 5 MHz paired in 700MHz band/ 5 #7Tg=st %1 700 F-1TE2s 4% # ST 74T

[Option ID = 3050]

62) |n Video Surveillance System the recording shall be stored for

[Question ID = 764][Question Description = Q62_ASTE_PA_NAIRAUG4]
30 days at 25FPS Full HD resolution of Full HD cameras/ % T8 F931
% 25UEHTuH el U=l (AAfwgee 92 30 fa

[Option ID = 3053] )
45 days at 25FPS Full HD resolution of Full HD camera/ T TS &0

# 25UEATIH B UHST Aiege 9T 45 BT

[Option ID = 3054]
; 45 days at 30FPS Full HD resolution of Full HD cameras/ % TS=1 81

% 30 TSI Fe UHLST (iR (egyT UL 45 fa
[Option ID = 3055] _
60 days at 30FPS Full HD resolution of Full HD cameras/ %@ T==1 #5<1

F 30UTHIua FF UHST (LwiegerT 7% 60 f&

[Option ID = 3056]

1.

Correct Answer :-

30 days at 25FPS Full HD resolution of Full HD cameras/ % T=( F931
* 25UFTUH B UA=! (iATeged 92 30 f&7

[Option ID = 3053]

63) MPLS header is composed of number of bits
g i e e = I - i e =1

[Question ID = 765][Question Description = Q63_ASTE_PA_NAIRAUG4]

1, 24

[Option ID = 3057]
2. 32

[Option ID = 3058]
3. 16

[Option ID = 3059]
4. 40

[Option ID = 3060]
Correct Answer :-
¢ 32

[Option ID = 3058]

64) A default subnet mask for a class C network is
FATH | A2d & (¢ [SHiee gade AEH 797 ¢

[Question ID = 766][Question Description = Q64_ASTE_PA_NAIRAUG4]
- 0.0.255.255

[Option ID = 3061]



2. 255.0.0.0

[Option ID = 3062]
3. 255.255,128.0

[Option ID = 3063]
4. 255.255.255.0

[Option ID = 3064]

Correct Answer :-

* 255.255.255.0

[Option ID = 3064]

65) Class B network supports........networks &......... hosts.
FATE AT TEET ... A AT B BT T2 e 2.

[Question ID = 767][Question Description = Q65_ASTE_PA_NAIRAUG4]
1. 128 ; 16,777,216

[Option ID = 3065]
2. 2,097 ; 152,256

[Option ID = 3066]
3. 4,096 ; 128,000

[Option ID = 3067]
4. 16,384 ; 65,536

[Option ID = 3068]
Correct Answer :-
* 16,384 ; 65,536

[Option ID = 3068]

66) You have a large interconnected network. The network span from end
to end is a possible 23 hops. Which routing protocol wouldn't you use?
T T O FET ST Yo &, 90 & s aF Yeak e deaa: 23 gie 2,
T T ST TIETHier BT 3990 Agl  FdT ?

[Question ID = 768][Question Description = Q66_ASTE_PA_NAIRAUG4]

. |GRP/ 3ME=iI3mT

[Option ID = 3069]

2. OSPF/ drwadies
[Option ID = 3070]
3. RIP/ seargdt

[Option ID = 3071]

4. EIGRP/ Zamssramzdr
[Option ID = 3072]

Correct Answer :-
* RIP/ smzamsdy

[Option ID = 3071]

67) OSPFisan Gateway Routing Protocol.

[Question ID = 769][Question Description = Q67_ASTE_PA_NAIRAUG4]
1. Exterior/ TFacIiaT

[Option ID = 3073]

2. Anterior/ THdET

[Option ID = 3074]

3. Posterior/ 9TeiET



[Option ID = 3075]
4. |nterior/ ZET<AT

[Option ID = 3076]
Correct Answer :-

* |nterior/ Z2T<49T

[Option ID = 3076]

68) Which is routing protocol among the following is used for UTS network?

Faferta § & #1991 ST G2 G2 10d A24% & =g I9a 0T 97 A1a1 27

[Question ID = 770][Question Description = Q68_ASTE_PA_NAIRAUG4]
1. OSPF/ 3wadios

[Option ID = 3077]

2. E\GRP/ Zamesiiamdr

[Option ID = 3078]

3. Store & Forward/ =i T®itas

[Option ID = 3079]
4 1818/ AETE-ATET
[Option ID = 3080]

Correct Answer :-

* OSPF/ sfiwadfius

[Option ID = 3077]

69) As per the latest policy,in new Automatic Block Signalling works in Double
Line  section, OFC cables to be laid in section to cater minimum of

total fibers in the section.

S AT S | A7 HASTHEF s FEieie Fra] 3 Qe § =Aad L.
FTgaT T SFEAHAT HT UL HEA 6 (10 FoFsrT F ATUHAT ger fo=mms =,
[Question ID = 771][Question Description = Q69_ASTE_PA_NAIRAUG4]
1. 192 fibers / 192 wizd<

[Option ID = 3081]
2. 96 fibers / 96 w1aT

[Option ID = 3082]
3. 48 fibers [ 48 wIzgL

[Option ID = 3083]
4. 24 fibers / 24 ®izdL

[Option ID = 3084]

Correct Answer :-

* 182 fibers / 192 wizax

[Option ID = 3081]

70) The total available bandwidth (B channels and D channels combined)

on a ISDN BRI is
HEUHE U S ALHATE T Tl ITAGH 93 (989 (A1 A9 AL 1 4701 640) &

[Question ID = 772][Question Description = Q70_ASTE_PA_NAIRAUG4]

1. 128 Kbps/128 o

[Option ID = 3085]

2. 144 Kbps/144 F4rfroa
[Option ID = 3086]

3 192 Kbps/ 192 Sefdius



[Option ID = 3087]

4. 64 Kbps/ 64 FdTdug
[Option ID = 3088]

Correct Answer :-

* 144 Kbps/144 o

[Option ID = 3086]

71) VTP advertisements use which VLAN?
A&t Tesrae o eeT =1 S9ET R | ?

[Question ID = 773][Question Description = Q71_ASTE_PA_NAIRAUG4]

1. VLANO/ FTusua0

[Option ID = 3089]

2. VLAN1/ Ffiosus1

[Option ID = 3090]

3. All VLANs/ gsfi=fiuau

[Option ID = 3091]
4. All VLANSs configured for trunk mode/ =

o

[Option ID = 3092]

Correct Answer :-

o VLAN1/HTgaua1

[Option ID = 3090]

72) |P Telephony uses protocel for VolP based telephone exchanges
FTEAT SATHRAT S TATATSHT AETHeT ST THe= =1 & [0 WIETHTS BT ITH T
FAT &

[Question ID = 774][Question Description = Q72_ASTE_PA_NAIRAUG4]

1. UDP/AET

[Option ID = 3093]

2. TCP/ARTIT

[Option ID = 3094]
3. SIPfumamedT

[Option ID = 3095]
4. H.265/m=.265

[Option ID = 3096]

Correct Answer :-
* SIPfumaTEdt

[Option ID = 3095]

73) affects both the fiber attenuation and dispersion.

HTEE T T ST SEAdT 21 B FATET LT 8.

[Question ID = 775][Question Description = Q73_ASTE_PA_NAIRAUG4]

1. Refractive index/ 9=t g1 (FOREFzass)

[Option ID = 3097]

2. Micro-bending/ ATZ#I- ST=T

[Option ID = 3098]
3. Connectors / Frzd

[Option ID = 3099]
4. Splices | THTEHH

[Option ID = 3100]



Correct Answer :-

* Micro-bending/ JTgw1- =T

[Option ID = 3098]

74)  Which method is adopted for providing wireless communication in tunnels?

HOT | ATALAT T TSI HLeA 3 [T Hie |1 (S(8 SAGA78 AT 87

[Question ID = 776][Question Description = Q74_ASTE_PA_NAIRAUG4]
- Leaky Coaxial Cable/ w1t figieaa sa

[Option ID = 3101]
2. Quad Cable/ F1= Fa=

[Option ID = 3102]

3. PIJF Cable/ fizmssias Faer

[Option ID = 3103]
4. Optic fiber cable / F =% wIgas Faq

[Option ID = 3104]

Correct Answer :-
* Leaky Coaxial Cable/ ==t firgis=as dad

[Option ID = 3101]

73 This byte is used to perform automatic protection switching in the SDH
system.
TH ATIS T ITALT THE TS FOTHT § FF1od AL [Eai=T e o (o =7 Smar 2.
[Question ID = 777][Question Description = Q75_ASTE_PA_NAIRAUG4]
1 81/ 7E
[Option ID = 3105]
A1/
[Option ID = 3106]

3 B2/#2

[Option ID = 3107]
4. K1/ %1

[Option ID = 3108]

Correct Answer :-
* K1/%1

[Option ID = 3108]

76) Optical power is measured in_____ and optical loss is measured in_____
Respectively.
Fifteme T F_____ H HTAT ATAT & 3L A caher @ HI_____ F AIT 04T 2.
[Question ID = 778][Question Description = Q76_ASTE_PA_NAIRAUG4]

- dB & dBm / 1T % SE A

[Option ID = 3109]
2. AH& Mho/ TUF 2T THUAEAT

[Option ID = 3110]

3. dBm & dB/ FTETaH ST =TaT

[Option ID = 3111]

4. KWh & KVA/ Fgeequ= i< 41y

[Option ID = 3112]

Correct Answer :-



¢ dBm & dB/ FrEiue o T

[Option ID = 3111]

77) Attenuation in PIJF telecom cable is A dB/Km and in Quad cable is B dB/Km.
Choose the correct statement
FrardsgE ST Fae § geeguer u S/t § o e e # o ST 2
HE FAT 1

[Question ID = 779][Question Description = Q77_ASTE_PA_NAIRAUG4]
1. A=B/A=B

[Option ID = 3113]
2. A>B/ A>B

[Option ID = 3114]
3. A<B/ A<B

[Option ID = 3115] R
4. Aisnotequalto B/ A, BF av@cal ¢

[Option ID = 3116]
Correct Answer :-
* A>B/A-B

[Option ID = 3114]

78) WPC license is not required for captive use of
Fitea IUFTT & [T Soeqdia] ATg6d Hi AEIFDAT 751 6.

[Question ID = 780][Question Description = Q78_ASTE_PA_NAIRAUG4]
1. VHF sets/ F10=0% 3=
[Option ID = 3117]
2. GSM-R/ Saua-=nt
[Option ID = 3118]
3. LTE/u=dig
[Option ID = 3119]
4. OFC/ Fimosdt
[Option ID = 3120]

Correct Answer :-

o OFC/ FrusT

[Option ID = 3120]

79) The optical windows used in SM fiber are
THUH FEAL H YA Affcawer (A0 &

[Question ID = 781][Question Description = Q79_ASTE_PA_NAIRAUG4]
1. 850nm & 1310 nm/8 50 TAux 2% 1310 TAuw

[Option ID = 3121]
2. 850nm & 1550 nm/ 850 TFTH & 1550 TATH

[Option ID = 3122]
3. 1310nm & 1550 nm{ 1310 TAuH T 1550 TATH

[Option ID = 3123]
4. 850nm & 1625 nm / 850 U9UT &L 1625 TATH

[Option ID = 3124]

Correct Answer :-

* 1310nm & 1550 nm/ 1310 ©=gH =T 1550 T7LH

[Option ID = 3123]



80) LTE downlink transmission is based on multiplexing
UAETS STaATe® g e e (ool T 9% AT 2.
[Question ID = 782][Question Description = Q80_ASTE_PA_NAIRAUG4]
. QPSK/ #HdiuET
[Option ID = 3125]
2. GMSK/ Sfrumuas
[Option ID = 3126]
3. DWDM/ ‘éléwﬂéiaﬂ
[Option ID = 3127]
4. OFDM/ Fg®s e
[Option ID = 3128]
Correct Answer :-

° OFDM/ Fu®siua

[Option ID = 3128]

81) The core network in LTE is known as

UHALTE | FIL T=a® F1 e 719 F AT AT 8 ?

[Question ID = 783][Question Description = Q81_ASTE_PA_NAIRAUG4]
1. 3G Core/ 35fi =

[Option ID = 3129]
2. Evolved Packet Core/ Z81v9= T FIT

[Option ID = 3130]

3. |SDN-Gateway/ AZTHS GA-12g

[Option ID = 3131]

4. GGSN/ sfr=framTT
[Option ID = 3132]

Correct Answer :-

e Evolved Packet Core/ ZaTeas T5z FIT

[Option ID = 3130]

82) |nspection schedule of equipment in ART by ADSTE/DSTE is
T At Hu st eR 8.8 Al um 23, arr susaeil &1 H{ae Frdwa #1 S+ 38
FENES

[Question ID = 784][Question Description = Q82_ASTE_PA_NAIRAUG4]

1. Annually once/ sfdad T am@

[Option ID = 3133]

Monthly once/ AT THa

[Option ID = 3134]
3. Quarterly once/ SHTTHF THATL

[Option ID = 3135]

4. Weekly once/ ATHTIET TFAT*
[Option ID = 3136]

Correct Answer :-

* Quarterly once/ FHTHH® THATT

[Option ID = 3135]

83) In Kavach system, RF Tag is type of device.
T WG] # ARCE T ....o..ee.... FEOIL T ITHLT 2.

[Question ID = 785][Question Description = Q83_ASTE_PA_NAIRAUG4]



. Active / TfF==

[Option ID = 3137]
2. Passive/ I

[Option ID = 3138]
3. None of these options / 37 [aF#q( & & 1< Ag(

[Option ID = 3139]
4. Hybrid / grzfas
[Option ID = 3140]

Correct Answer :-

* Passive/ 9T

[Option ID = 3138]

In IBS, when train passes IB signal at ‘ON'’
R R B e | L B e 0 B o o B L T B e e B
[Question ID = 786][Question Description = Q84_ASTE_PA_NAIRAUG4]
1. K1 indication appears / ¥1 2% 9%z gIAT &
[Option ID = 3141]

2. K2 indication appears / %2 S THE 20T &

[Option ID = 3142] )

3. K3 indication appears /%3 e e 2101 &
[Option ID = 3143]

4. K4 indication appears / %4 3EH9T F 51AT &
[Option ID = 3144]

Correct Answer :-

* K1 indication appears / ¥1 SfS%a 9% gaT &

[Option ID = 3141]

Expand the term "SO&8" used in Kavach

FAT H 9T 9768 “THATA” F AR w1
[Question ID = 787][Question Description = Q85_ASTE_PA_NAIRAUG4]
1. System out of service / =9 =iz #iw o

[Option ID = 3145]
2. Save our soul / #F HEE FIeT
[Option ID = 3146]
3. Signal out of service / ’F== 33z A AHT

[Option ID = 3147]

4. Safety of System / AT A He=w

[Option ID = 3148]
Correct Answer :-
* Save our soul / FF AEE T

[Option ID = 3146]

Topic:- ASTE_PB_NAIRAUG4



1) Which one of the following Articles of the Constitution of India has
pravision for the President to proclaim emergency?

HRErT whre ¥ Frafafa sg=der # § fros gegafa gam
HTIT=RTer ST ETNUT FI T T &7

[Question ID = 788][Question Description = Q01_ASTE_PB_NAIRAUGA4]

- Article 352 / 31a_-lat.€§a 352

[Option ID = 3149]

- Article 355 / 3iTede 355
[Option ID = 3150]

> Article 356 / 3TeTzte 356
[Option ID = 3151]

* Article 360 / 37eTdg 360
[Option ID = 3152]

Correct Answer :- Deleted

? The electrons in the outermost orbit of an atom are called

TATY] T el STEAT HeTT A Hislg Felereial sl FaT el Siiell &
[Question ID = 789][Question Description = Q02_ASTE_PB_NAIRAUG4]

" Band electrons / 35 SelecleT
[Option ID = 3153]

2 QOrbital electrons / HiTdT Seldcied
[Option ID = 3154]

» Valence electrons / doid Selarciel
[Option ID = 3155]

s Charged electrons / ITes Solarcid

[Option ID = 3156]

Correct Answer :-

* Valence electrons / doi¥ Selerciel

[Option ID = 3155]

3) Who is called the Guardian of Public Purse?

Hraetfaieh Wallel &1 TIGTER Tohd) gl ATl & 2

[Question ID = 790][Question Description = Q03_ASTE_PB_NAIRAUG4]

1. President /Tsedia

[Option ID = 3157]
2. Comptroller and Auditor-General / [#Ris vd Fgreiar 92t

[Option ID = 3158]
3. Parliament / 94

[Option ID = 3159]
4. Councll of Ministers / H#3r glug

[Option ID = 3160]

Correct Answer :-



¢ Comptroller and Auditor-General / WA Ud grol@r giiais

[Option ID = 3158]

4) The Speaker's vote in the Lok Sabha is called
FIREST & HUTET F Fa T FET AT E

[Question ID = 791][Question Description = Q04_ASTE_PB_NAIRAUG4]
! Casting Vote / #1f&&T A7

[Option ID = 3161]
2. Sound Vote / 138 Ad

[Option ID = 3162]
3. Direct Vote / STO{F A

[Option ID = 3163]
4. Indirect Vote / SAsAFE A

[Option ID = 3164]
Correct Answer :-
° Casting Vote / #1f&&T A

[Option ID = 3161]
5) The number of Anglo-Indians who can be nominated by the President to
the Lok Sabha is

[Question ID = 792][Question Description = Q05_ASTE_PB_NAIRAUG4]
1. 2
[Option ID = 3165]

. 3

[Option ID = 3166]
3.4

[Option ID = 3167]
4. 5

[Option ID = 3168]

Correct Answer :- Deleted

6) Union Budget is always presented first in

[Question ID = 793][Question Description = Q06_ASTE_PB_NAIRAUGA4]
1. The Lok Sabha / &l ®aT

[Option ID = 3169]
2. The Rajya Sabha / T=3& T

[Option ID = 3170]
3. Joint Session of the Parliament / e T u'gﬁ g

[Option ID = 3171]

4. Meeting of the Union Cabinet / F3ra A#Fse Fr i35+

[Option ID = 3172]

Correct Answer :-

* The Lok Sabha / &5 &A1

[Option ID = 3169]

7) The quorum of Lok Sabha is

I T FHTFRH g



[Question ID = 794][Question Description = Q07_ASTE_PB_NAIRAUGA4]
1. 1/5™ of the total membership [ el HEEFAT T 1/53T 1T

[Option ID = 3173]
2. 1/6" of the total membership / & HeFadT = 1 /63T AT

[Option ID = 3174]
3. 1/8" of the total membership / FeT WeEadT FT 1/8aT HTT

[Option ID = 3175]
4 1/10™ of the total membership / & HEEIAT =T 1/103T AT

[Option ID = 3176]
Correct Answer :-

* 1/10" of the total membership / Fel HEEIAT =T 11037 AT

[Option ID = 3176]

8) What can be maximum interval between two Sessions of Parliament?

HHE & &1 G519 AT H 3190 Fraar g ghar e

[Question ID = 795][Question Description = Q08_ASTE_PB_NAIRAUG4]
1. 3 months / 3 ATE

[Option ID = 3177]
2. 4 months / 4 ATg

[Option ID = 3178]

3. 6 months /6 HATg
[Option ID = 3179]

4. 9 months /9 ATE
[Option ID = 3180]

Correct Answer :-

e 6 months /6 AT

[Option ID = 3179]

9 What is ‘Zero Hour'?
SR FET =T B

[Question ID = 796][Question Description = Q09_ASTE_PB_NAIRAUGA4]
When the proposals of the opposition are raised / 519 9987 & 9&dig

3BT S &
[Option ID = 3181]

When matters of utmost importance are raised / 59 3cdid HgcaTor

HHAT IoC AT E

[Option ID = 3182]
Interval between the morning and afternoon sessions / ¥ag AR &gt

& HAT % drg Haud

[Option ID = 3183]
When a Money Bill is introduced in Lok Sabha / 5/@ #I3 o1 [Gee

ollep AT 31 e ol Sl &
[Option ID = 3184]

Correct Answer :-



When matters of utmost importance are raised / 519 37cdd Hgca ol

A 3o ST &

[Option ID = 3182]

10) What makes the Judiciary the guardian of the Constitution?

FATIUTToIeRT shT TIATeT ST TL&Teh hied SalldT &7

[Question ID = 797][Question Description = Q10_ASTE_PB_NAIRAUG4]
' Independence / Eadar

[Option ID = 3185]
2 Service conditions / TdT Tt

[Option ID = 3186]

*  Salary / dd«

[Option ID = 3187]
4. Judicial Review / #aTIeh GHIETT

[Option ID = 3188]

Correct Answer :-

+ Judicial Review / =a1-Ies @HTET

[Option ID = 3188]

" Who holds the power to increase the number of judges in the Supreme Court?

gafed ATy 3 ~grarediell dhr HEAT el Fr ATHHR has arg 8?2

[Question ID = 798][Question Description = Q11_ASTE_PB_NAIRAUG4]

" Prime Minister / IeITsT #H3T

[Option ID = 3189]

> President / Iseqfa

[Option ID = 3190]
. Parliament / TEG
[Option ID = 3191]

Ministry of Law / ST HATeTd

[Option ID = 3192]

4.

Correct Answer :-

* Parliament / §HG

[Option ID = 3191]



Who of the following Chief Justices of India acted as the President of India also?

el & & #Rd & HET ~ararediell # § [hHe R & Uegdia & &9 7 off R fear?

[Question ID = 799][Question Description = Q12_ASTE_PB_NAIRAUG4]

_ Justice M. Hidayatullah / [ UA. Tperadees

[Option ID = 3193]

.. Justice P.N. Bhagwati / =ara#fcl U U1 $7aTacil

[Option ID = 3194]

5. Justice Mehar Chand Mahajan / SIT€cH HgX ¢ Hglolad
[Option ID = 3195]

« Justice B.K. Mukherjee / #arai{fcl a.sh. FG@il

[Option ID = 3196]

Correct Answer :-

Justice M. Hidayatullah / =ar#{fd wa. feeradeele

[Option ID = 3193]

3} Panchayati Raj is organised at the

gETIdr et X AT Sl Silal &

[Question ID = 800][Question Description = Q13_ASTE_PB_NAIRAUGA4]
1. Block level / selleh EAX

[Option ID = 3197]

2 Village, block, district and state level / 3Td, selier, forelr 31K T TR
[Option ID = 3198]

> Village, block and district level / 3T1d, saliep 3T &em &X

[Option ID = 3199]

+ Village and block level / 3T, 3i¥ soiieh &R

[Option ID = 3200]

Correct Answer :-

* Village, block and district level / aTiq, seiieh 31X 5o &1

[Option ID = 3199]

14)  Which of the following has the powers to create a new all-India

Service?

r=Tofaa & & froe o v = 310 IRd gfag s1 & 21fed §7?

[Question ID = 801][Question Description = Q14_ASTE_PB_NAIRAUGA4]
1. Parliament / 98¢



[Option ID = 3201]
2. Union Public Service Commission / = wilss JaT 33T

[Option ID = 3202]

3. Union Cabinet / &g #ads

[Option ID = 3203]
Ministry of Personnel, Public Grievances and Pensions / #I&@®, e

fRerraa 3R YT FAeT
[Option ID = 3204]

Correct Answer :-

e Parliament / T%g

[Option ID = 3201]

To be a regional party, the minimum percentage of votes that a party
needs to secure in any election is:

&g 91t gt o fore ot of e #F forlt ondt =g hae

gfaerd aic 9Tod Fel T HTTHT giaT &

[Question ID = 802][Question Description = Q15_ASTE_PB_NAIRAUG4]
1. 2%

[Option ID = 3205]
2 3%

[Option ID = 3206]
> 4%

[Option ID = 3207]
+. 5%

[Option ID = 3208]

Correct Answer :- Deleted

'®) The right to vote in India is given to all people on the basis of

ST & GaAT ol &Y die &at o 3TTEe R Tohd 3R W) igar a1ar &

[Question ID = 803][Question Description = Q16_ASTE_PB_NAIRAUG4]

. Education / fereqr

[Option ID = 3209]

.. Property / @ufd
[Option ID = 3210]

5. Religion / 18T

[Option ID = 3211]
" Age/ 3

[Option ID = 3212]

Correct Answer :-



© Age /3

[Option ID = 3212]

17) Gross Domestic Product (GDP) is defined as the value of all

Hehel U] 3¢S (SIEI) i @l FHOFEIH
g FRaT A g

[Question ID = 804][Question Description = Q17_ASTE_PB_NAIRAUG4]
Goods produced in an economy in a year / T a9 & fa swiaar &

1. "
SeqTied aFgU

[Option ID = 3213]
Goods and services In an economy in a year / U 99 & SHIaHT &

2. .
FFEU AR WiEw
[Option ID = 3214]
Final goods produced in an economy in a year / TS Y & R

3.
FFIaAr H Fearfed Hfaw awqe
[Option ID = 3215]
Final goods and services produced in an economy in a year | TF a9

" 2 oy sttt & s i e 3y wRRES
[Option ID = 3216]

Correct Answer :-

Final goods and services produced in an economy in a year | T T
# el stersl & Searfed 3ifos swge ik wfdws

[Option ID = 3216]

8) National Income is based on the

TSI 3T ) AeTRa &

[Question ID = 805][Question Description = Q18_ASTE_PB_NAIRAUG4]
.. Total revenue of the State / T &l el Yol

[Option ID = 3217]

> Production of goods and services / a3t X AaT3il T 3cdig=t

[Option ID = 3218]
3.

Net profit earned and expenditure made by the State / T gaRT 3fSid sic Aifhe iR T

[Option ID = 3219]

s. The sum of all factions of income / 37T @& AT 37201 T 9T

[Option ID = 3220]

Correct Answer :-

- Production of goods and services / &3t 3K HaT3iT T 3cigat



[Option ID = 3218]

) Population density is defined as the number of persons

STTEEAT Helcd hl cgfFaaT I TEAT & & F IRATNT Far Sar g

[Question ID = 806][Question Description = Q19_ASTE_PB_NAIRAUG4]

1. Per square mile / 9T gat el
[Option ID = 3221]

2 Per square kilometre / 9fa g91 feraireiex

[Option ID = 3222]
3 Per lakh square mile / 9fa @Rg @7 At

[Option ID = 3223]

* Per lakh square kilometre / 9fa oRg a3T feratieiex

[Option ID = 3224]

Correct Answer :-

* Per square kilometre / 9fa g91 feraireex

[Option ID = 3222]

* The most literate Union Territory in India is

AR F7 T A& g, QAT vaer 3

[Question ID = 807][Question Description = Q20_ASTE_PB_NAIRAUG4]

" Delhi / f&eel

[Option ID = 3225]
2 | akshadweep / T&TgdIq

[Option ID = 3226]
* Chandigarh / ©3191¢

[Option ID = 3227]

s Pondicherry / 9i8=RT

[Option ID = 3228]

Correct Answer :-

* Lakshadweep / oT&Tgdid

[Option ID = 3226]

Which is the largest State of India, population-wise, according to 2001 Census?

20071 T STAITITAT o 3TAR SIAHET T TS H ST F HIH 5T Ao FieT AT 572

[Question ID = 808][Question Description = Q21_ASTE_PB_NAIRAUGA4]



N

Maharashtra / HgIS¢

[Option ID = 3229]

2 Bihar / 98X

[Option ID = 3230]

. Uttar Pradesh / 39T 9cer

w

[Option ID = 3231]
+ \West Bengal / 9fRg# &ammel

[Option ID = 3232]

Correct Answer :-

. Uttar Pradesh / 39T 9cer

[Option ID = 3231]

Which State in India is estimated to have the largest coal reserves in India?

AR o v AT H 8T T TGH oST hITell SR Eled T 3T &7

[Question ID = 809][Question Description = Q22_ASTE_PB_NAIRAUGA4]

1. Bihar/ 98
[Option ID = 3233]
2 Jharkhand / sIR@s

[Option ID = 3234]

5. Madhya Pradesh / 7€ vcer
[Option ID = 3235]

.. Orissa / 3arar

[Option ID = 3236]

Correct Answer :-

* Jharkhand / sIR@s

[Option ID = 3234]

Where is the Rail-wheel Factory situated?

{oT-afg T FRETAT Fgh 2T 872

[Question ID = 810][Question Description = Q23_ASTE_PB_NAIRAUGA4]

1. Srirangpatttam / SieT9ced

[Option ID = 3237]



> Gulbarga / IeTeraT
[Option ID = 3238]

5. Hampi / g&dT
[Option ID = 3239]

“ Yelahanka / TeTgar
[Option ID = 3240]

Correct Answer :-

* Yelahanka / AeTgert

[Option ID = 3240]

The Buckingham Canal, which has been declared a National Waterway
of India recently, is a canal running from

FFTA 7T, o @ &1 7 SR F ST FTAANT Uive Faraar g,
H Tl ITel U AR E

[Question ID = 811][Question Description = Q24_ASTE_PB_NAIRAUG4]
1. Punjab to Haryana / 9= & ghamom

[Option ID = 3241]

2. Mumbai to Goa / H#% & 7itaT

[Option ID = 3242]

3. Vijayawada to Villupuram / BrsrgamsT & faeeqis

[Option ID = 3243]

4. Cochin to Kozhikode / ®I=ie ¥ FIEFE

[Option ID = 3244]

Correct Answer :-

« Vijayawada to Villupuram / fe=rgamsT & feaqqa

[Option ID = 3243]

The standard of living in a country is represented by its

TRl or 7 Shaet & &1 wiafafiea 389 CEIRE T
AT g

[Question ID = 812][Question Description = Q25_ASTE_PB_NAIRAUG4]

- Poverty Ratio / ITIsl 37741
[Option ID = 3245]

2. Per Capita Income / 9 sfeFd 3T
[Option ID = 3246]

* National Income / T¢I 31T
[Option ID = 3247]

“  Unemployment Rate / S3=aTRT &

[Option ID = 3248]



Correct Answer :-

« Per Capita Income / 9T saf&a 3

[Option ID = 3246]

26) Nature of unemployment in agriculture in India is

R F F F Ay Fr oF g

[Question ID = 813][Question Description = Q26_ASTE_PB_NAIRAUG4]

1. Seasonal / sl

[Option ID = 3249]

2. Disquised / FHITS=E

[Option ID = 3250]

3. Both Seasonal and Disguised / Histaer 3T Boansss =t
[Option ID = 3251]

4. None of these / T8 § FIE 7&r
[Option ID = 3252]

Correct Answer :-

* Both Seasonal and Disguised / Hisiaer 3T Boasss &t

[Option ID = 3251]

What is the resistance that must be connected across 4 Ohm resistor in

order to give an equivalent resistance of 2ohms

2 31T & FHGeT ISCH & o Torw 4 31 et ¥ foreer Yoreew e

ST ATfge?

[Question ID = 814][Question Description = Q27_ASTE_PB_NAIRAUG4]

10 Q

[Option ID = 3253]
2. 8 Q

[Option ID = 3254]
40

[Option ID = 3255]
4.
20

[Option ID = 3256]
Correct Answer :-
° 40

[Option ID = 3255]



28) An electric heater draws 3.5Amps of current if the heating element has

a resistance of 40 ohms, what is its power consumption
T Selfdes gieT 3.5 UEaY e T g, afe §ifee aca #1 Ioeew 40
HIF &, ar sgehT festelr @ud(aray sereer) hdar glem?

[Question ID = 815][Question Description = Q28_ASTE_PB_NAIRAUG4]

. 0.45 kWh / 0.45 Treitare

[Option ID = 3257]
2 10.35 kWh / 10.35 freirare
[Option ID = 3258]

> 0.49 kWh / 0.49 fereftare

[Option ID = 3259]

+ 0.51kWh / 0.51 fereitare

[Option ID = 3260]

Correct Answer :-

* 0.49 kWh / 0.49 ferefrare

[Option ID = 3259]

29) The major aim of devaluation Is to

TTAH FTTHT 5227 g

[Question ID = 816][Question Description = Q29_ASTE_PB_NAIRAUGA4]

1. Encourage exports / aTa =t dicaTigd FL

[Option ID = 3261]

2. Encourage imports / HTATH HT IcHTed L

[Option ID = 3262]
Encourage both exports and imports / &gt 3T 3mama =T Fr

Sheafea Ft

[Option ID = 3263]

Discourage both exports and imports / = aTd T HmaTd AT &
FAlcHITRd L
[Option ID = 3264]

Correct Answer :-

* Encourage exports / TaTa T SicdTigd F1

[Option ID = 3261]

30) The existence of a parallel economy or Black Money:

4o SHRIATAT IT FT U= FT ATedea:
[Question ID = 817][Question Description = Q30_ASTE_PB_NAIRAUG4]

Makes the economy more competitive / SHITHT FT 37O FraTas’
AT
[Option ID = 3265] .
, Makes the monetary policies less effective / At Sfergi(@El
arferf&an) Ft 7 THE S g

[Option ID = 3266]

1.



; Ensures a better distribution of income and wealth / 37T 3T ¥ 1
| R TR gt ey

[Option ID = 3267]
Ensures increasing productive investment / 3cargs faaer # ggfer

4.
gfaffaa sarg
[Option ID = 3268]

Correct Answer :-

Makes the monetary policies less effective / Fifge afaai(H=eir
grferfaat) $t F87 THE a9 8§

[Option ID = 3266]

31
) Which of the following arganizations is known as Market Regulator in

India?

fArafaf@a # @ Fia 81 Hed 7Ra # AT WEE & §9 7 =1 AT
g7

[Question ID = 818][Question Description = Q31_ASTE_PB_NAIRAUG4]

" |BA / ATSET

. SEBI / THSHI3TS

[Option ID = 3270]

. AMF| / TTHATH3TS

[Option ID = 3271]
« NSDL / TAUdsIUA

[Option ID = 3272]

Correct Answer :-

. SEBI / THSEI3S

[Option ID = 3270]

32
) The one rupee note bears the signature of the

TF $9C & &l IX FETAER A §
[Question ID = 819][Question Description = Q32_ASTE_PB_NAIRAUG4]
1. Secretary, Ministry of Finance / =g, &= #3rea

[Option ID = 3273]
2. Governor, RBI / IE=T, TS

[Option ID = 3274]
3 Finance Minister / fa= 737

[Option ID = 3275]

4. None of these / Sa7#H & HIE Fer

[Option ID = 3276]

Correct Answer :-



* Secretary, Ministry of Finance / @f=r=, & #xrea

[Option ID = 3273]

33) With a half-wave rectified voltage across the load resistor, load current
flows for what part of a cycle?

s ISy 9T T 39 SEwIEs dieee F Ty oS e UISHe F e
a1 % forw Janfea g 87

[Question ID = 820][Question Description = Q33_ASTE_PB_NAIRAUG4]

v 0 degrees /0 T33l

[Option ID = 3277]

90 degrees / 90 f2aft
[Option ID = 3278]
. 180 degrees / 180 f3afr

[Option ID = 3279]

+ 360 degrees / 360 T2afr

[Option ID = 3280]

2

Correct Answer :-

- 180 degrees / 180 f33r

[Option ID = 3279]

34) The base of Consumer Price Index (CPI) for industrial workers has been

shifted from 1982 to

e sff F Fw Fgmm 5w 2 (W) F1 AR 1982
T TN T fem mam g |

[Question ID = 821][Question Description = Q34_ASTE_PB_NAIRAUG4]

" 1998

[Option ID = 3281]
= 2000

[Option ID = 3282]

» 2001

[Option ID = 3283]

+ 2002

[Option ID = 3284]

Correct Answer :-

* 2001

[Option ID = 3283]

35) Which of the following logic aids are called "Universal Gates™?
Trafeias # & e affsre uga #1 gHada d2a" Fgr sar 22




[Question ID = 822][Question Description = Q35_ASTE_PB_NAIRAUG4]
1. NOR and NAND gate / TR i T9QUA=] 92

[Option ID = 3285]
2. OR and NOR gate / Sir=T 3% Ui i

[Option ID = 3286]

3. AND and XOR gate / TUFET =¥ Tasiame 92

[Option ID = 3287]
4 NAND and AND gate / TAUUAET 3T TUA=( 32
[Option ID = 3288]

Correct Answer :-

* NOR and NAND gate / TA==Z i< TAgUa=1 2

[Option ID = 3285]

36) Numerical value of the perimeter & area of circle are equal, what will

be the numerical value of the radius of the circle
1 T I A ShReT T TS O 94085 g, 99 $1 EeAT(AEad) B

[Question ID = 823][Question Description = Q36_ASTE_PB_NAIRAUGA4]

1.1 unit/13F=
[Option ID = 3289]

2 munit / ARz

[Option ID = 3290]
3. 04 unit/ 04 afiz

[Option ID = 3291]
4. 02 unit/ 02 gfF=
[Option ID = 3292]

Correct Answer :-

* 02 unit/ 02 gz

[Option ID = 3292]

37) is the utility used to check the health of hard drive

in windows,
FHIT FT ST AT FUATRan(L ) 2

[Question ID = 824][Question Description = Q37_ASTE_PB_NAIRAUG4]
1. Disk/ ==

[Option ID = 3293]
2. Clean up disk / (17 o9 f2o=%

[Option ID = 3294]

3. Check disk /3= ==

[Option ID = 3295]

4. System restore / A=y FT=R
[Option ID = 3296]

Correct Answer :-

* Check disk /3% =%

[Option ID = 3295]



38) windows application used to capture screenshot

EhAee HoaT Fe & T 93 BT e arer [&eTa T ehere T 2

[Question ID = 825][Question Description = Q38_ASTE_PB_NAIRAUGA4]

" Snipping tool / e gor
[Option ID = 3297]

2 Notepad / Aireds
[Option D = 3298]

3. Sticky notes / feehr Alcw
[Option ID = 3299]

4. Wordpad / CELE
[Option ID = 3300]

Correct Answer :-

* Snipping tool / feafRier gt

[Option ID = 3297]

39 Which of the following is not an open sources operating system
fafET & & FiF o 3ie oy iR e adr s

[Question ID = 826][Question Description = Q39_ASTE_PB_NAIRAUG4]
1. Windows / &8
[Option ID = 3301]
2 Ubuntu /38
[Option ID = 3302]
3. Android / USISS
[Option ID = 3303]
4. Linux/ os=w
[Option ID = 3304]
Correct Answer :-

* Windows / @==

[Option ID = 3301]

40) A light-year is a unit of:
T Y131 Y (e15E $3W) Frushr Ifae &

[Question ID = 827][Question Description = Q40_ASTE_PB_NAIRAUGA4]
1. Time /®AT

[Option ID = 3305]
2. Mass / #AH
[Option ID = 3306]

3. Distance / gff

[Option ID = 3307]
4 Energy / FaT

[Option ID = 3308]
Correct Answer :-
* Distance / gft

[Option ID = 3307]

41)
When was Official Language Act 1963 passed?

=T HfRfETE 1963 9 oiita frar @

[Question ID = 828][Question Description = Q41_ASTE_PB_NAIRAUGA4]



' 10.09.1976

[Option ID = 3309]
2. 14,09.1949

[Option ID = 3310]
3. 26.01.1950

[Option ID = 3311]
4. 10.05.1963

[Option ID = 3312]
Correct Answer :-

¢ 10.05.1963

[Option ID = 3312]

42) When is “Hindi Day" celebrated every year?

gl Iy T e w9 #@amr JEr §2
[Question ID = 829][Question Description = Q42_ASTE_PB_NAIRAUGA4]
1. January 26 | 26 STeradY

[Option ID = 3313]
2. Junes/5 S

[Option ID = 3314]

3. September 14/ 14 fag=T
[Option ID = 3315]

4. March 8/ 8 I

[Option ID = 3316]

Correct Answer :-

* September 14/ 14 &g
[Option ID = 3315]

43) What is the Official Language of Arunachal Pradesh?
U J& T ARG 97 F47 87
[Question ID = 830][Question Description = Q43_ASTE_PB_NAIRAUGA4]

1. Hindi / fg&r

[Option ID = 3317]

2. Maithili ) &f2reir

[Option ID = 3318]

3. Santhall / §Telr

[Option ID = 3319]
4 English / 373r=T

[Option ID = 3320]

Correct Answer :-

® English / 33=T

[Option ID = 3320]

44) From when did the Sec 3(3) of Official Languages Act take effect?
T HTfTs Fr OR 3(3) F ¥ AL g7

[Question ID = 831][Question Description = Q44_ASTE_PB_NAIRAUGA4]
1. 26 January, 1965/ 26 Siaa{l, 1965

[Option ID = 3321]

2. 14 September, 1949 / 14 f&daT, 1949
[Option ID = 3322]

3 05 June, 1955/ 05 1T, 1955
[Option ID = 3323]



4. 10 May, 1963/ 10 A, 1963
[Option ID = 3324]

Correct Answer :-

* 26 January, 1965 / 26 FT=adT, 1965

[Option ID = 3321]

45) In which part of the Constitution are the Articles 343-351 that give
information
about Official Language, available?

TSIATET AT AFHRT &1 TTe7 Heg=og 343-351 Hiww & 5w wwr #
IqeTed §7
[Question ID = 832][Question Description = Q45_ASTE_PB_NAIRAUG4]

" Part— V/ STV

[Option ID = 3325]
2. Part XVII / #1ET- XVII

[Option ID = 3326]

3 Part-V| | SRETVI
[Option ID = 3327]

4 Part-VIl ) STV
[Option ID = 3328]

Correct Answer :-

* Part XVII / & XVII

[Option ID = 3326]

46) In which states Urdu has been declared as Official Language?
o =2t # 3¢ #r T " R T §2

[Question ID = 833][Question Description = Q46_ASTE_PB_NAIRAUG4]

- Mizoram & Arunachal Pradesh / TB=THE 3T 3/%um=er gaor
[Option ID = 3329]

2. Telangana & Bihar / eiamem HX @R
[Option ID = 3330]

3. Jammu & Kashmir / 5F5 3R FHT
[Option ID = 3331]

4. Karnatak & Tamilnadu / Feites 3T affesg

[Option ID = 3332]

Correct Answer :- Deleted

47) At present how many languages are enlisted in the Eighth Schedule of
the constitution?

FoAe & wieene $ anedt e & fraeh e gEeey #2
[Question ID = 834][Question Description = Q47_ASTE_PB_NAIRAUGA4]
1. 15

[Option ID = 3333]
2. 14

[Option ID = 3334]
3. a6

[Option ID = 3335]
4. 29

[Option ID = 3336]

Correct Answer :-

e 22



[Option ID = 3336]

48) In which article is the provision regarding OL policy available in Part V of
the constitution?

BT F AT VH JSA A § HEfg gEye e sasee #
ITeTeT 87

[Question ID = 835][Question Description = Q48_ASTE_PB_NAIRAUG4]
' Article — 120/ 37=5¢ - 120
[Option ID = 3337]
2. Article — 210/ #=0% - 210
[Option ID = 3338]
3. Article — 343 | HF=0 - 343
[Option ID = 3339]
4 Article — 351/ 3¥e[=0¢ - 351

[Option ID = 3340]

Correct Answer :-  Deleted

49) When was the Official Language Rules passed?

=T TEE == g & e

[Question ID = 836][Question Description = Q49_ASTE_PB_NAIRAUG4]

" 1963

[Option ID = 3341]
2. 1976

[Option ID = 3342]
3. 1950

[Option ID = 3343]
4. 1955
[Option ID = 3344]

Correct Answer :-

® 1976
[Option ID = 3342]

50) Which Sub-committee of the Parliamentary Committee on Official
Language
inspects Railway Ministry?
HHEr U= ®iATE Fr w9 O 39-ufAfa & d5em w1 e
HIAr
&7
[Question ID = 837][Question Description = Q50_ASTE_PB_NAIRAUG4]
' First Sub-Committee / 9gair 39-gf&fT
[Option ID = 3345]
2. second Sub-Committee | ZEIT 39-WiHTS
[Option ID = 3346]

3 Third Sub-Committee / Srafy su-afafa

[Option ID = 3347]
4. Fourth Sub-Committee / =t 39-wfafy

[Option ID = 3348]

Correct Answer :-
° Second Sub-Committee / &I 39-TIATT

[Option ID = 3346]



51) Which elementary Hindi course is prescribed for Central Govt.
employees?

F5 WHFN F wAIEr F U siF @ it T asass @i
g7

[Question ID = 838][Question Description = Q51_ASTE_PB_NAIRAUGA4]
' Prabodh / gaer

[Option ID = 3349]
2. Praveen / 9oT

[Option ID = 3350]

3. Pragya ! 9T=
[Option ID = 3351]

4. Parangat /9/3Td
[Option ID = 3352]

Correct Answer :-

* Prabodh / gamer

[Option ID = 3349]

52) Who is the Chairman of Central Hindi Committee?

o T g F aremw w2
[Question ID = 839][Question Description = Q52_ASTE_PB_NAIRAUGA4]
1. Home Minister / I[g H3T

[Option ID = 3353]
2. Defence Minister/ T&T HIT

[Option ID = 3354]

3 Railway Minister / Ter #3r
[Option ID = 3355]

4. Prime Minister / TuT H3T
[Option ID = 3356]

Correct Answer :-

* Prime Minister / STeT HAr

[Option ID = 3356]

53) Who prepares the Annual Programme on Official Language?

TSTHNT FT S8F FIUFH Sl ATR” FIGT 272

[Question ID = 840][Question Description = Q53_ASTE_PB_NAIRAUG4]
1. Law Ministry / el FITOIT

[Option ID = 3357]
2. Defence Ministry / T8T H3eg
[Option ID = 3358]
3 Railway Ministry / T&T #H3Tera
[Option ID = 3359]
4. Ministry of Home Affairs / 3[§ HIed

[Option ID = 3360]

Correct Answer :-

* Ministry of Home Affairs / g HITog

[Option ID = 3360]



54) Name the newly introduced course in Hindi by Hindi Teaching Scheme?

f&dr Rveror atstar g e # g% U Tv AU greEsEA FoAw
g?

[Question ID = 841][Question Description = Q54_ASTE_PB_NAIRAUGA4]

1. Divangat / f’eggiorg
[Option ID = 3361]

2. -
Susangat / gHITd
[Option ID = 3362]

3 Tarangat /| @A
[Option ID = 3363]

“ Parangat /| I ETT
[Option ID = 3364]

Correct Answer :-
° Parangat / 93T

[Option ID = 3364]

35) Mention the name of the Award to be given for writing story/novel writing
in Hindi by Railway Board?
e 31 gEn Bl F FEehsTeaw aws ¥ v R S e W

&1 AH 9d1e?

[Question ID = 842][Question Description = Q55_ASTE_PB_NAIRAUG4]
1. Lal Bahadur Shastri Award / #ITel FIgTg{ ATET TWERR

[Option ID = 3365]
2 Premchand Award / YH<E JTEHIT
[Option ID = 3366]
3. Rajeev Gandhi Award / Tr=ia amefl WEFR

[Option ID = 3367]
4. Maithili Sharan Gupta Award / #TJei 2T Ied TWER
[Option ID = 3368]

Correct Answer :-
* Premchand Award / 98=¢ TTEHIT
[Option ID = 3366]

Topic:- ASTE_PC_NAIRAUG4

1) The dividend payable by Indian Railways after the merger of Railway Budget
with General Budget is
S G52 T ATATA 9 H (409 F37 6 g8 ATLH (9 Lo giiy 29 [SiEEs 2
[Question ID = 843][Question Description = Q01_ASTE_PC_NAIRAUG4]
1. 2% of capital at charge of IR / =TS 7% Hu=e 7T 2%

[Option ID = 3369]
2 NIL/ s

[Option ID = 3370]
3. 1% of capital at charge /ATS 9% Hifvea %1 1%

[Option ID = 3371]
A notional amount of 100 crores every year / ¥iaas 100 F<Ig #i

[Option ID = 3372]



Correct Answer :-

o NIL/ 9=

[Option ID = 3370]

2)  Which programme has helped railways install energy efficient LED bulbs also
provided at subsidized cost to Railway employees?
P HTEFH T TS B FSA1 DA USEET Fged WO H o¥EE K og, ST IEd
FHATHEAT =7 Il %7 9 I9esg TL T & ?
[Question ID = 844][Question Description = Q02_ASTE_PC_NAIRAUG4]
International Energy Efficiency Agency Programme (IEEAP) / 3icRTsarg
Foll GaTel Tor! s (STESET)

[Option ID = 3373]
BEE Initiative for Energy Efficiency (BIEE) / Z=1f ZaT # o1 #122 e

(@r=E=s)
[Option ID = 3374]

3. Energy Efficiency Service Agency (EESA) / 1T 5y 44T TS (220AT)

[Option ID = 3375]
Domestic Efficient Lighting Proagramme (DELP) I‘Eiiﬁf\ffalﬂ HehIRT

TR (S5UendD)
[Option ID = 3376]

Correct Answer :-

Domestic Efficient Lighting Programme (DELP) !‘Eiiﬁr{ffalﬂ ECaE
FRFH (FEUeD)

[Option ID = 3376]

3)  Which of the following is not depreciated
THafertas & & i |1 (S9EE 951 a7 9T
[Question ID = 845][Question Description = Q03_ASTE_PC_NAIRAUG4]
1. Plant and Machinery/ &4 =i #sia<1
[Option ID = 3377]
2. Vehicles / amg"

[Option ID = 3378]

3. Furniture / S==97%
[Option ID = 3379]
4. Land/ i
[Option ID = 3380]
Correct Answer :-

 Land/

[Option ID = 3380]

4) Cash payments to suppliers for goods and services are classified as cash
flows from
FEGAT A% HATA B (o1 SATATATSA FT 75T AT I 4] & A%l ¥4 F T H
FE T (AT ST &.

[Question ID = 846][Question Description = Q04_ASTE_PC_NAIRAUGA4]
1. Investing Activities / Faer wigfafea=t

[Option ID = 3381]

2. Financing Activities /e ==l



[Option ID = 3382]

3. QOperating Activities /TH=T=" TRt TE=T
[Option ID = 3383]

4. Research Activities/ SFEETT TiA= =51
[Option ID = 3384]

Correct Answer :-

* Operating Activities /o= wiafafaat

[Option ID = 3383]

5) Find the odd man out:
S A ATIE FT 9qT @AY

[Question ID = 847][Question Description = Q05_ASTE_PC_NAIRAUG4]
1. Average Rate of Return / 39 e+ &%

[Option ID = 3385]

2. Profitability Index method/ Sifeetatesr 37w A
[Option ID = 3386]

3 Net Present Value/ 7= 5z f7g
[Option ID = 3387]

4. Internal Rate of Return./ 227 1z @I M2
[Option ID = 3388]

Correct Answer :-

¢ Average Rate of Return / o fiad a2

[Option ID = 3385]

The length of time required to recover the initial cost of a project is

called as
Rl ST 87

[Question ID = 848][Question Description = Q06_ASTE_PC_NAIRAUG4]
1. Time value of money/ 4 1 599 979

[Option ID = 3389]

2. Net present Value / 9= 5z 3w
[Option ID = 3390]
3 Payback Period / STaTH & 1d

[Option ID = 3391]
4 Modern Method / #rgfw= fafar

[Option ID = 3392]
Correct Answer :-
* Payback Period / 7T FA 15

[Option ID = 3391]

7)  The successive Leave encashment cannot be made before a minimum

period of (block period) has elapsed.
FIH® GET AFEIFAT (hawl ATaH SFare (saiF arafe) fq s F Tge gl ar

[Question ID = 849][Question Description = Q07_ASTE_PC_NAIRAUGA4]
1. 4

[Option ID = 3393]
2. 1



[Option ID = 3394]
3. 3

[Option ID = 3395]
4. 2

[Option ID = 3396]
Correct Answer :-

e 2

[Option ID = 3396]

8) Agreements that do not give rise to contractual obligations are not contracts.
ST T A faaTes FTieat #1947 & & o |iaard 78 g
[Question ID = 850][Question Description = Q08_ASTE_PC_NAIRAUG4]

1. True/®@%l

[Option ID = 3397]
2. Partly False / #ifere o

[Option ID = 3398]
3. False /r&d

[Option ID = 3399]
4 MOU / wHdg

[Option ID = 3400]
Correct Answer :-

* True/#g%l

[Option ID = 3397]

9) In accounting classification, how many abstracts are there, corresponding to
each Sub Major head?
i aviHeor H qed® 3H-wHE A1 & FeT fHad UsHdFE gid 67

[Question ID = 851][Question Description = Q09_ASTE_PC_NAIRAUGA4]
1. 11

[Option ID = 3401]
2. 12

[Option ID = 3402]
3. 13

[Option ID = 3403]
4. 16

[Option ID = 3404]

Correct Answer :-
° 13

[Option ID = 3403]

10)  Which type of revenue exp is booked to PU 297
41 29 F T THTL FT A 2 g% AT AT9T 82

[Question ID = 852][Question Description = Q10_ASTE_PC_NAIRAUG4]
1. Children Education Allowance / S371 i Tr&m \=T

[Option ID = 3405]

2. Leave encashment / &1 T Tz 2

[Option ID = 3406]



;. Payments to reengaged staff, officers and consultants / g—rl':ﬁ'*ﬁﬁ_n
FHATICATL, ATARTICAT AT AATEHIL FT A

[Option ID = 3407]
4. Cost of material directly purchased / @73 @di=T 75 iy Ff @97

[Option ID = 3408]
Correct Answer :-
o Payments to reengaged staff, officers and consultants / F:ﬁ?ﬁﬁ!—n
FHATICAL, ATAHTICAT AT AATEHIL HT T

[Option ID = 3407]

11) Under PU 53, which type of revenue expenditure is booked?

[Question ID = 853][Question Description = Q11_ASTE_PC_NAIRAUG4]

1. Cost of computer hardware / F12% ZIS 99 %[ AT

[Option ID = 3409]
Expenditure on Laptop purchased by officers / srTarsTaT gy gii= g

2. -
HIET UT AT
[Option ID = 3410]

3. All India Leave Travel Concession/ & ST=d ™ g2l AT4T 194
[Option ID = 3411] _
Interest on delayed deposit of NPS contributions / Tadioe sis % Hefam
ST 9T AT
[Option ID = 3412]
Correct Answer :-

* Al India Leave Travel Concession/ & ST=d ™ gz ITaT (A4

[Option ID = 3411]

12) Expenditure on renewals and replacements is financed from

T 2 s 5 = v S e gy e e

[Question ID = 854][Question Description = Q12_ASTE_PC_NAIRAUGA4]
1. DRF / S13RUH

[Option ID = 3413]

2. DF/SiTH

[Option ID = 3414]

3. Capital / Fid=ar
[Option ID = 3415]

4. Revenue /%37
[Option ID = 3416]

Correct Answer :-

* DRF / SI3REH

[Option ID = 3413]

13) Re-appropriation is NOT permissible between
e ot qAE s 1 aqaiT 95
a. Different grants/ Efsra iz
b. Capital, railway funds, safety fund / Ftiz, Taaths, §2dThe
c. Voted and Charged / 51z T3 77 & =75t (3 waT



[Question ID = 855][Question Description = Q13_ASTE_PC_NAIRAUGA4]
1. All are correct / TS TT &

[Option ID = 3417]
2. bonly correct / Fae o1 %1 &
[Option ID = 3418]

3. conly correct / Fge € 72l &

[Option ID = 3419]
4. a&care correct/ a T c TRl &

[Option ID = 3420]
Correct Answer :-

o All are correct/ TI TET &

[Option ID = 3417]

14) « Single Demand for Grant number assigned for Railways in 2017-18 was
T 2017-18 & Twra & Torw swafeq e BHis wit 9z A4 91

[Question ID = 856][Question Description = Q14_ASTE_PC_NAIRAUGA4]
1. B0

[Option ID = 3421]
2. 82

[Option ID = 3422]
3. 83

[Option ID = 3423]
4. 100
[Option ID = 3424]

Correct Answer :-

e 80

[Option ID = 3421]

15) On Zonal railways, Budget process starts in which month?

AV e g% aSE FhAT (5 He | AL gl g?

[Question ID = 857][Question Description = Q15_ASTE_PC_NAIRAUG4]
1. November/ 754z

[Option ID = 3425]
2. September / FEax

[Option ID = 3426]
3. August /sFrEg

[Option ID = 3427]
4. December/ fEeg=
[Option ID = 3428]

Correct Answer :-

¢ September / fidas

[Option ID = 3426]

16) Under which Article of Constitution of India, charged expenditure is not

subjected to Vote of Parliament?
HATCA TSI & (8 F=a8 & davia J15e TFFYS=% §68 & AqaTT 6 9 agl
@

[Question ID = 858][Question Description = Q16_ASTE_PC_NAIRAUG4]




1. 112(1)
[Option ID = 3429]
2 113(1)

[Option ID = 3430]
3. 113 (2)

[Option ID = 3431]
4. 115(1)

[Option ID = 3432]
Correct Answer :-
* 113(1)

[Option ID = 3430]

17)  Revised Estimate is prepared based on earnings/expenditure trends of-—-,

and projections for the balance period.

Ao Uftaliz —— it 9/ =4 T 229 o S ety & oy sSrsaerT & srre 0T

[Question ID = 859][Question Description = Q17_ASTE_PC_NAIRAUG4]

1. First 3 months / Jgef 3 g

[Option ID = 3433]

2. First 5 months / 729 5 A2

[Option ID = 3434]

3. First 9 months / 78+ 9 A&
[Option ID = 3435]

4. First 6 months / 77 6 Agr

[Option ID = 3436]

Correct Answer :-

« First 5 months / T2+ 5 A2

[Option ID = 3434]

18) Minor heads in works segment are known as

F3f Tarrfe i @ of ot 1 oy a7 & sty =imar 22

[Question ID = 860][Question Description = Q18_ASTE_PC_NAIRAUG4]
1. Plan heads /gr=T fi

[Option ID = 3437]
2. Demands for Grants /sTET T #7T

[Option ID = 3438]
3. Sources of Finance /fa= =T

[Option ID = 3439]
4. Budget Grant/gsi A=
[Option ID = 3440]

Correct Answer :-

* Plan heads /F1=T fi

[Option ID = 3437]

19) Coal as a commadity contributes towards total freight revenue earned by the
Railways:

UF A F T H AT T I AT T WiE 13 # At A 29T 8

[Question ID = 861][Question Description = Q19_ASTE_PC_NAIRAUGA4]



1. Between 45% to 49% /45% T 49% & 4

[Option ID = 3441]
2. Between 55% to 60%/55% & 60% F &=

[Option ID = 3442]
3. Between 35% to 38% /35% & 38% ¥ &=

[Option ID = 3443]
4. Between 40% to 42% /40% & 42% T 4=
[Option ID = 3444]

Correct Answer :-

* Between 45% to 49% /45% & 49% o

[Option ID = 3441]

20) Sanction to the estimate is considered as ‘Technical sanction' in case of

.............. FTEEL H wieeie & T w7 qEA 6 S A ST 2

[Question ID = 862][Question Description = Q20_ASTE_PC_NAIRAUG4]
1. Abstract Estimate /TsHiTs TeEHz

[Option ID = 3445]

2. Detailed Estimate / Fivs ueiie
[Option ID = 3446]

3. Revised Estimate / ==z T&ds

[Option ID = 3447]

4. Completion Estimate / & 1s1 Tz

[Option ID = 3448]
Correct Answer :-

¢ Detailed Estimate / SiZvs w&iis

[Option ID = 3446]

21) An item of work, connected with the main work, can be added to the
estimate through

T F1U IET F1Y F7 0 Ag, Ufecae & FFE 5o ST s §var §

[Question ID = 863][Question Description = Q21_ASTE_PC_NAIRAUG4]

1. Revised Estimate / Teiifig titese
[Option ID = 3449]

2. Detailed Estimate / fargav ffede
[Option ID = 3450]

3. Supplementary Estimate fﬂﬂﬂﬁm
[Option ID = 3451]

4 Completion Estimate / G#9 videde
[Option ID = 3452]

Correct Answer :-

® Supplementary Estimate /ﬁqﬁm

[Option ID = 3451]

22) Detailed Estimate need not he prepared for works costing less than
ForaretY ST & e aTer 1t 3 fore e 3T SR Lt 31 HTaeghal
TR 8.

[Question ID = 864][Question Description = Q22_ASTE_PC_NAIRAUG4]
1. Rs, 10 lakhs /10 9@ &.



[Option ID = 3453]

2 Rs. 5 lakhs / 5eT@ .
[Option ID = 3454]

3 Rs. 3 lakhs/ 3em@ %.
[Option ID = 3455]

4 Rs. 2 lakhs / 29TE %.
[Option ID = 3456]

Correct Answer :-

Rs. 5 lakhs / 5eT@ <.

[Option ID = 3454]

23) A work carried out with Non-Railway Funds

- e ¥ e mar
[Question ID = 865][Question Description = Q23_ASTE_PC_NAIRAUGA4]
- Deposit work/ Bafere s
[Option ID = 3457]
2. Quotation Work / e #13
[Option ID = 3458]
3 Zonal contract / & @faer

[Option ID = 3459]
4. Rate contract/ @< gfaer

[Option ID = 3460]
Correct Answer :-
* Deposit work/ Bafere 14

[Option ID = 3457]

24 Minimum notice period for inviting Limited / Special limited
tenders
/e Sifag BT i F@ F e e Aty
gt
[Question ID = 866][Question Description = Q24_ASTE_PC_NAIRAUG4]
' Tdays/7fea
[Option ID = 3461]
2 21days /21 =
[Option ID = 3462]
3 14 days /14 few
[Option ID = 3463]
4. 31 days/ 31 fe=o1
[Option ID = 3464]
Correct Answer :-
* 14days/14few
[Option ID = 3463]

25) Pre-vetting of Tender schedule is necessary for
e e & Rfaer d5ge Hr 0@ F wEeTE
[Question ID = 867][Question Description = Q25_ASTE_PC_NAIRAUG4]
. Works where Detailed Estimate is not prepared / T Y e e
UTFeHT dO 7gf ohar T §.
[Option ID = 3465]
2. Works of urgent nature /3caT5ea Yfa F F14



[Option ID = 3466]

3. PBitems /dTsr &g

[Option ID = 3467]

4. Incidental work/ HTREAHERE) F

[Option ID = 3468]

Correct Answer :-

. Works where Detailed Estimate is not prepared / ﬂ#?ﬁ'mﬁw
uffeAT J9R 72! fnar AT .

[Option ID = 3465]

26) Meanetary limit of direct acceptance without Tender committee in open
etendering
el 5-&sRiar F Esy wfafa & e wooer =l &t Hifgs e
[Question ID = 868][Question Description = Q26_ASTE_PC_NAIRAUGA4]
- Up to Rs. 20 lakhs/ 20 &T® T8 I
[Option ID = 3469]
2. Up to Rs. 50 lakhs / 50 9@ 399 T
[Option ID = 3470]
3. UptoRs. 1crore /1 FIS T TF

[Option ID = 3471]
4. Up to Rs. 2 crore/ 2 U8 94 O

[Option ID = 3472]

Correct Answer :-

e Upto Rs. 50 lakhs / 50 91®@ T98 TF

[Option ID = 3470]

27) p\Cis applicable for tenders costing
T o ST el fefaerat & forw e g

[Question ID = 869][Question Description = Q27_ASTE_PC_NAIRAUGA4]
. = 5crores /> 5 FU5

[Option ID = 3473]
2. < 10 crores/>10 FUS

[Option ID = 3474]
3. = 15 crores/> 15 FUS

[Option ID = 3475]
4 > 20 crores/= 20 S

[Option ID = 3476]

Correct Answer :- Deleted

28)
Tender committee and Accepting authority for single tenders should be

weRe farfETat 3 fove ffver WiRfer 3t T ey SRR oy SoFR g
iR,

[Question ID = 870][Question Description = Q28_ASTE_PC_NAIRAUG4]
. One step above normal tenders / FTAT=T HTEE3T & TF FeH TR

[Option ID = 3477]
2 Two steps above the normal tenders/ =g T3t & & <7 51



[Option ID = 3478]
_Same level committee as for open tenders / et TaTaerait & G TaT Hr

At

[Option ID = 3479]

4. Two separate committee/ Y 3rerr BiATIAT

3

[Option ID = 3480]

Correct Answer :-

* One step above normal tenders / FTAETT AT € 0F FSA 71

[Option ID = 3477]

Percentage of departmental charges provided in the estimates
TiEese # Fareha=rst 5 Sraer wfoere vare o o

[Question ID = 871][Question Description = Q29_ASTE_PC_NAIRAUG4]
1. 5%
[Option ID = 3481]
2. 10%
[Option ID = 3482]
312 1%
[Option ID = 3483]
4 15%

[Option ID = 3484]

Correct Answer :- Deleted

30 As per GCC of services, financial turnover criteria for tender is

ST B F AR, Wi F o o et aees &
[Question ID = 872][Question Description = Q30_ASTE_PC_NAIRAUG4]
1. 150% during last 7 years /froer 7 96t & g0+ 150%
[Option ID = 3485]
2. 150% during last 3 years / roer 3 a8t F e 150%
[Option ID = 3486]
150% during last 3 years plus 5% liquidity turnover / frewer 3 I8t F g

150% “ord 5% T fzer eaaiay
[Option ID = 3487]
4. 150% during last 5 years/ f@ers asf & 150%
[Option ID = 3488]
Correct Answer :-
. 150% during last 3 years plus 5% liquidity turnover / Boer 3 It F e
150% “orl 5% fIfaafZer easay

[Option ID = 3487]

31) Plan Head 3300 denotes

THTe 3 3300 AT SR §
[Question ID = 873][Question Description = Q31_ASTE_PC_NAIRAUG4]
I Pure signalling works / =X Raafersr &
[Option ID = 3489]

2. Track Renewals / &= Uaaer

[Option ID = 3490]
3 Electrification / Teege=hior

[Option ID = 3491]



4 Traffic facility/ it giaer
[Option ID = 3492]
Correct Answer :-
*  Pure signalling works / =T Rrafere

[Option ID = 3489]

32) With respect to the quantum of DA admissible to employees based on
absence from HQrs, which is not correct?
AEATed § HTEda % AR 9T FHETE! i FHE JES 7 B A F
aT & e WU TE TG B7
[Question ID = 874][Question Description = Q32_ASTE_PC_NAIRAUG4]
Less than & hrs- 30% of DA. / 6 Ui& ¥ FH — AgINS H= T 30%.

[Option ID = 3493]

More than 6 hrs but less than 12 hrs-70% of DA/ 6 E‘??m%lz
HE § FA - AZIS 3 FH7 70%.

[Option ID = 3494] _
More than 12 hrs/each completed day.100% of DA. /

312 9 A0 / Seiw qur e % o mgemd
T 100%.

[Option ID = 3495]
4. Less than 6 hrs- 50% of DA/ 6 9& T FH — HINS 5 F7 50%.

2.

[Option ID = 3496]
Correct Answer :-

e Less than 6 hrs- 50% of DA/ 6 & ¥ FH — HgaNs 3 F 50%.

[Option ID = 3496]

33) The total leave encashed during the entire career shall not

exceed days.

oot HET % 2 anErnT 1 gal =T & =rfers 9 2T =iy,
[Question ID = 875][Question Description = Q33_ASTE_PC_NAIRAUGA4]
1. 60
[Option ID = 3497]
2. 50

[Option ID = 3498]
370

[Option ID = 3499]
4100

[Option ID = 3500]
Correct Answer :-

* 60

[Option ID = 3497]

34) The reimbursement of CEA/Hostel subsidy can be claimed for only for

IR AR R e A R A e A R e = % forg foram =i a=war
-

[Question ID = 876][Question Description = Q34_ASTE_PC_NAIRAUG4]



1. Two children / 3T 531 % =T

[Option ID = 3501]
2. Twao eldest children / 2T a4 a2 93

[Option ID = 3502]
3. Three children [ frvag

[Option ID = 3503]

4. Two eldest surviving children / 31 T3% g2 S{ifaw ag! & faQ
[Option ID = 3504]

Correct Answer :-

e Two eldest surviving children / 3t &&+ g SifaT ag1 # f@Q

[Option ID = 3504]
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[Question ID = 877][Question Description = Q35_ASTE_PC_NAIRAUG4]
. Interconnected Payment and Access System/ Selhases YA AT TFET
Re=r
[Option ID = 3505]
Interconnected Payrell and Accounting system / Sed@eides e 3T
serrste Rwea
[Option ID = 3506]
;. Integrated Payroll and Accounting System/ &ErEes 4Trer AT J=3fear

Fzpra

[Option ID = 3507]

Integrated Payment and Accounting System/ SERICS YHT 3T HFSTeT
R

2.

[Option ID = 3508]

Correct Answer :-
Integrated Payroll and Accounting System/ S<res Uater 31T s/=aféar
(E=rocrag

[Option ID = 3507]





